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CHAPTER 1

Limits, Alternative, and Choices
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Econl31 Chapter 1: Limits, Alternative, and Choices 4 pale dana

Definition of economics:

Is the social science concerned with how individuals, institutions, and society make optimal (best) choices
under conditions of scarcity

Economics: the study of the allocation of scarce resources among alternative end uses.
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The Economic Perspective:

Economists view things from a unique perspective. This economic perspective, or economic way of thinking, has
several critical and closely interrelated features.
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Scarcity and Choice

Scarce economic resources mean limited goods and services. Scarcity restricts options and demands choices.
Because we “can’t have it all,” we must decide what we will have and what we must forgo.

Scarce inputs of land, equipment, farm labor, the labor of cooks and waiters, and managerial talent are required.
Because society could have used these resources to produce something else, it sacrifices those other goods and
services in making the lunch available. Economists call such sacrifices opportunity costs: To obtain more of one
thing, society forgoes the opportunity of getting the next best thing. That sacrifice is the opportunity cost of the choice.
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Opportunity costs:

To obtain more of one thing, society forgoes the opportunity of getting the next best thing. That sacrifice is the
opportunity cost of the choice.
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Purposeful Behavior (Rational Behavior)

Economics assumes that human behavior reflects “rational self-interest.” Individuals look for and pursue
opportunities to increase their utility— the pleasure, happiness, or satisfaction obtained from consuming a good or
service. They allocate their time, energy, and money to maximize their satisfaction. Because they weigh costs and
benefits, their economic decisions are “purposeful” or “rational,” not “random”.

Consumers are purposeful in deciding what goods and services to buy. Business firms are purposeful in deciding

what products to produce and how to produce them. Government entities are purposeful in deciding what public

services to provide and how to finance them. “Purposeful behavior’ does not assume that people and institutions are
immune from faulty logic and therefore are perfect decision makers. They sometimes make mistakes. Nor does it
mean that people’s decisions are unaffected by emotion or the decisions of those around them. “Purposeful behavior”
simply means that people make decisions with some desired outcome in mind.
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Marginal Analysis: Comparing Benefits and Costs:

The economic perspective focuses largely on marginal analysis —comparisons of marginal benefits (MB) and
marginal costs (MC), usually for decision making. To economists, “marginal” means “extra,” “additional,” or “a change
in.” Most choices or decisions involve changes in the status quo, meaning the existing state of affairs.
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Should you study an extra hour for an exam? Should a business expand or reduce its output? Should government

increase or decrease its funding for a missile defense system? Each option involves marginal benefits and,

because of scarce resources, marginal costs. In making choices rationally, the decision maker must compare
those two amounts.
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Example:
You and your fiancée are shopping for an engagement ring. Should you buy a ' carat diamond, a % carat diamond,

a 1-carat diamond, or something even larger? The marginal cost of a larger-size diamond is the added expense
beyond the cost of the smaller-size diamond. The marginal benefit is the perceived lifetime pleasure (utility) from the
larger size stone. If the marginal benefit of the larger diamond exceeds its marginal cost (and you can afford it), buy
the larger stone. But if the marginal cost is more than the marginal benefit, you should buy the smaller diamond
instead—even if you can afford the larger stone!
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Example: Choose the correct answer

1. You should decide to go to a movie:
A. if the marginal cost of the movie exceeds its marginal benefit.
B. if the marginal benefit of the movie exceeds its marginal cost.
C. if your income will allow you to buy a ticket.
D. because movies are enjoyable.

2. A person should consume more of something when its marginal:
A. benefit exceeds its marginal cost
B. cost exceeds its marginal benefit
C. cost equals its marginal benefit
D. benefit is still positive

3. Purposeful behavior means that:
A. people are selfish in their decision-making
B. people weigh costs and benefits to make decisions
C. people are immune from emotions affecting their decisions
D. decision-makers do not make mistakes when weighing costs and benefits

4. Suppose that a university decides to spend $1 million to upgrade personal computers and scientific equipment for
faculty rather than spend $1 million to expand parking for students. This example illustrates:

Purposeful behavior

Opportunity cost

Marginal analysis

Economic hypothesis
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Theories, Principles, and Models

Scientific Method  stall cndl 3as 31

Scientific method procedure consists of several elements: a5 >0 duas dle 55500 wlall Cxdl e

1. Observing real-world behavior and outcomes. ol 4 sm syoxss 5 allall Alasdle

2. Based on those observations, formulating a hypothesis sl si s,allall Js> clin,s piss

3. Testing this explanation by comparing the outcomes of specific events to the outcome predicted by the
hypothesis. =iy a8all Jo> bl puazs

4. Accepting, rejecting, and modifying the hypothesis, based on these comparisons.  zs,s txw suc o 2w s

Camey]l
5. Continuing to test the hypothesis against the facts (results). sl @l Jsesl!

Economic principle

A statement about economic behavior or the economy that enables prediction of the probable effects of certain
actions

Economic models: which are simplified representations of how economic works.
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Economic principles and models are highly useful in analyzing economic behavior and understanding how the
economy operates. They are the tools for ascertaining cause and effect (or action and outcome) within the economic
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system. Good theories do a good job of explaining and predicting. They are supported by facts concerning how
individuals and institutions actually behave in producing, exchanging, and consuming goods and services.
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There are some other things you should know about economic principles.

Generalizations: Economic principles are generalizations relating to economic behavior or to the economy itself.
Economic principles are expressed as the tendencies of typical or average consumers, workers, or business firms.
For example, economists say that consumers buy more of a particular product when its price falls. Economists
recognize that some consumers may increase their purchases by a large amount, others by a small amount, and a
few not at all. This “price-quantity” principle, however, holds for the typical consumer and for consumers as a group.
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Other- Things-Equal (ceteris paribus) Assumption: The assumption that factors other than those being
considered do not change. They assume that all variables except those under immediate consideration are
held constant for a particular analysis.
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For example, consider the relationship between the price of Pepsi and the amount of it purchased. Assume
that of all the factors that might influence the amount of Pepsi purchased (for example, the consumer incomes)
unchanged.
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Example: Choose the correct answer

1. The term "ceteris paribus" means:

that if event A precedes event B, A has caused B
that economics deals with facts, not values

other things equal

prosperity inevitably follows recession

COow>»

2. Suppose an economist says that "Other things equal, the lower the price of bananas, the greater the amount of
bananas purchased." This statement indicates that:
A. The quantity of bananas purchased determines the price of bananas.

. All factors other than the price of bananas (for example, consumer tastes and incomes) are assumed to be

B
constant.

C. economists can conduct controlled laboratory experiments

D. One cannot generalize about the relationship between the price of bananas and the quantity purchased.

Microeconomics and Macroeconomics
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Microeconomics:

Microeconomics is the part of economics concerned with individual units such as a person, a household, a firm,
or an industry. At this level of analysis, the economist observes the details of an economic unit.
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Macroeconomics:

Macroeconomics examines either the economy as a whole or its basic subdivisions or aggregates, such as the
government, household, and business sectors.

Macroeconomics approaches the study of economics from the viewpoint (s 2.5 ) Of the entire economy.
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Example
Indicate whether each of the following statements applies to Microeconomics or Macroeconomics?

1. A study of the trend of wheat prices on Russia -Ukraine war (Microeconomics)

2. A decline in the price of cucumber caused farmer Waleed to plant more land in tomato. (Microeconomics)
3. Unemployment was 15.3 percent of the labor force last year. (Macroeconomics)

4. The price of personal computers declined last year. (Microeconomics)

5. Will the inflation rate remain relatively stable this year? (Macroeconomics)

6. What policies would be recommended for stimulating national economic growth? (Macroeconomics)

7. Will the introduction of a new computer chip change the demand for computers? (Microeconomics)

Example: Choose the correct answer

1. Microeconomics:
A. Is the basis for the "after this, therefore because of this" fallacy.
B. Is not concerned with details, but only with the overall big picture of the economy.
C. Is concerned with individual economic units and specific markets.
D. Describes the aggregate flows of output and income.

2. The problems of aggregate inflation and unemployment are:
A. Major topics of macroeconomics.
B. Not relevant to the U.S. economy.
C. Major topics of microeconomics.
D. Major topics of microeconomics or macroeconomics.

3. The study of how a firm sets its prices in different regions of the nation would fall under:
A. Macroeconomics
B. Microeconomics
C. Income distribution
D. Economic growth
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Positive and Normative ECONOMICS: ;Leat! slaid¥ls o5kl sbais¥l

Both microeconomics and macroeconomics contain elements of positive economics and normative
economics.

Positive Economics

Positive economics focuses on facts and cause-and-effect relationships. It includes description, theory
development, and theory testing (theoretical economics).

Positive economics avoids value judgments

Theoretical economics is a positive economics.
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Normative Economics

Normative economics involves value judgments; about what the economy should be like or what particular
policy actions should be recommended to achieve a desirable goal (policy economics).

Normative economics embodies subjective feelings about what ought to be.
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Example
Decide whether the following statements are Positive or Normative:

1. Luxuries should be taxed more heavily than necessities  ( Normative Statement)
2. The price and quantity demanded of a good is inversely related. (Positive Statement)

3. ltis too hot to jog (,=s,,) today". ( Normative Statement)

4. We should buy Palestinian goods and boycott (»k\) Israeli product. ( Normative Statement)

5. Arrise in the price of petrol will lead to an increase in the demand for rail transport. (Positive Statement)
6. Unemployment is more harmful than inflation  ( Normative Statement)

7. Arrise in the price of petrol will lead to an increase in the demand for rail transport. (Positive Statement)
8. As a general rule, people are happier in more equal societies. ( Normative Statement)

9. The minimum wage (,5-3 _is¥l u=Jl) should be increased to give people a decent wage. ( Normative Statement)

10. Gas prices are rising because there aren’t enough oil refineries. (Positive Statement)
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Example: Choose the correct answer

1. A positive statement is one which is:
(A) derived by induction
(B) derived by deduction
(C) subjective and is based on a value judgment
(D) objective and is based on facts

2. Normative statements are concerned primarily with:
(A) facts and theories
(B) what ought to be
(C) whatis
(D) rational choice involving costs and benefits

3. "Economics is concerned with how individuals, institutions, and society make optimal choices under conditions
of scarcity." This statement is:
(A) positive, but incorrect
(B) positive and correct
(C) normative, but incorrect
(D) normative and correct

4. Basel says that "An increase in the tax on smoke will raise its price." Ruba argues that "Taxes should be
increased on smoke because college students consume too much." We can conclude that:
(A) Basel's statement is normative, but Ruba's is positive.
(B) Ruba's statement is normative, but Basel’s is positive.
(C) Both statements are normative.
(D) Both statements are positive.

Economizing Problem sL.:s¥ assl

The fundamental problem of economics is the scarcity of productive resources relative to economic wants.
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The economizing problem is one of deciding how to make the best use of limited resources to satisfy virtually
unlimited wants.
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Limited Income and Unlimited Wantssssuzs as oslidyg dguzme Joo

Individual has a fixed amount of income, and have unlimited wants. Because wants exceed income, individual
face an economizing problem; they must decide what to buy and what to forgo.
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Society's Economizing Problem  .sall gsrudl e 2yolazs¥l A sl
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Scarce Resources ;sLall 5,

Society has limited or scarce economic resources, meaning all natural, human, and manufactured resources that go
into the production of goods and services. This includes the entire set of factory and farm buildings and all the
equipment, tools, and machinery used to produce manufactured goods and agricultural products; all transportation
and communication facilities; all types of labor; and land and mineral resources.
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Economic Resources: wo ¥ ,aball

Economic resource is defined as any person or thing that contributes to the process of producing goods
and services.
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Resource Categories

Economists classify economic resources into four general categories.

A. Land: To the economist land includes all natural resources ("gifts of nature") used in the production
process, such as arable land, forests, mineral and oil deposits, and water resources.
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B. Labor (J«2/): The resource labor consists of the physical and mental talents of individuals used in producing

goods and services. The services of a logger, retail clerk, machinist, teacher, professional football player, and
nuclear physicist all fall under the general heading “labor.”
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C. Capital: Capital (or capital goods) includes all manufactured aids used in producing consumer goods and
services. Included is all factory, storage, transportation, and distribution facilities, as well as tools or

machinery. Economists refer to the purchase of capital goods as investment.

Obl o L hiriul aay oLl 1ol iads . ilieg ol ameg Biarlo ¥ e Aalisell 7 Lo Jslag (o dasiiaty Olud Yl pods o g slazd¥l § JUI )
(o1 o Te 52 Gutly JUI Guly oy To o s Ll (sl 8 dieady Jo sl 2 lhseiad aa) JWI (aly sa To 52 o)

e Capital goods differ from consumer goods because consumer goods satisfy wants directly, whereas capital
'goods do so indirectly by aiding the production of consumer goods.
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e Because money produces nothing, economists do not include it as an economic resource. Money used for
purchasing capital goods.
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D. Entrepreneurial Ability (s, 5,53): There is the special human resource, distinct from labor, called
entrepreneurial ability.
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The entrepreneur performs several functions: L casllsy dcsazar 3l as,

o The entrepreneur takes the initiative in combining the resources of land, labor, and capital to produce a good or
a service. The entrepreneur is the driving force behind production and the agent who combines the other
resources in what is hoped will be a successful business venture.
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e The entrepreneur makes the strategic business decisions that set the course of an enterprise.
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e The entrepreneur is an innovator. He or she commercializes new products, new production techniques, or even
new forms of business organization.
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e The entrepreneur is a risk bearer. The entrepreneur has no guarantee of profit. The reward for the
entrepreneur’s time, efforts, and abilities may be profits or losses.

Bylus ol 7Lyl 3amey dd £, el CP)TMQ‘ Creas ¥ bl bl ety (0 g gL

Because land, labor, capital, and entrepreneurial ability are combined to produce goods and services, they are called
the factors of production, or simply "inputs."
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Example:
Classify of the following resources as Land, Labor, Capital or Entrepreneurial ability

1. A tractor used by a wheat farmer Capital

2. Natural gas Land

3. A computer programmer Labor

4. A person developing a production schedule for a new product | Entrepreneurial ability
5. Minerals Land

6. Two thousand acres of virgin forest Land

7. An office computer used by an accountant Capital
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Example: Choose the correct answer

1. Economic resources are also called:
A. Free gifts of nature.
B. Consumption goods.
C. Units of money capital.
D. Factors of production.

2. Money is not an economic resource because:
A. Money, as such, does not produce anything.
B. Idle money balances do not earn interest income.
C. ltis not scarce.
D. Money is not a free gift of nature.

3. Which of the following would notbe classified as an economic resource by economists?
A. a professional soccer player
B. waterin a town’s reservoir
C. money in a business checking account
D. the manager of the local hamburger restaurant

4. In every society, choices must be made because resources are:
A. Unlimited, but economic wants are Limited
B. Limited, but economic wants are Unlimited
C. Unlimited, but economic wants are limited
D. Limited, and so are economic wants

5. Which of the following is a land resource?
A. A farmer
B. An oil drilling rig
C. A machine for detecting earthquakes
D. Natural gas

Production Possibilities Model ; syl oloa) axie

Production Possibilities Curve

Lists the different combinations of two products that can be produced with a specific set of resources, assuming full
employment.
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Assumptions «Lslis!
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1. Full employment: The economy is employing all its available resources.
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2. Fixed resources. The quantity and quality of the factors of production are fixed.
Al perzll g 8,85kl Aem LY 3,15kl Aue g9 2aS o

3. Fixed technology: The methods used to produce output are constant.
ey FICES(NPPRELINREL [(FESNPEUCID EPENES { U D
4. Two goods: The economy is producing only two goods (consumer goods and capital goods).
daas cprales z ik peizll pdy of
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Production Possibilities Table

A production possibilities table lists the different combinations of two products that can be produced with a specific
set of resources, assuming full employment. Table below presents a simple, hypothetical economy that is producing

pizzas and Industrial Robots.

STUDENTS-HUB.com

Example
Production Possibilities of Pizzas and Industrial Robots:
Q
10 A
-~ 9
Type of product | Production Alternative g B Unattainable
A B C D E “
o 7
Pizzas 0 1 2 3 4 s oW
Robots 10 9 7 4 0 g 6
3 5
E 4 ~
g Attainable
3 3
£
2
I
E
0 | 2 3 4 5 4 7 8 9 Q

Pizzas (hundred thousands)

At alternative A, this economy would be devoting all its available resources to the production of industrial robots
(capital goods )
AT a._l__CLIqAJ‘ QU}.@).” CL’Z;‘ é a.pl.@.'i_s:}" aa)l}n s Jl.ga.'i_s:}" i ua.;a.za_A )Lﬁ.'x,” e

At alternative E, all resources would go to pizza production (consumer goods).
(S Mol Aalas) Load (50! ¥ Lalad¥l 6390 pen SLatd¥l s puseiun B Ll e

An economy typically produces both capital goods and consumer goods, as in B, C, and D.
B, C, D clliaddl e (1)) 285l plaadly (Rpebiva ) i) Aol I ) sliazd ¥ ey

As we move from alternative A to E, we increase the production of pizzas at the expense of the production of

industrial robots. In producing more pizzas, society increases the current satisfaction of its wants. But there is a

cost: More pizzas mean fewer industrial robots.

oS3 adldl ailiey g L) oo izl asgy o 5l (e sl 7 L) cind Apebigall Sligsg 01 ol (e 1l oo z ¥l s E 5Ll JIA 5Ll e Jlas)
s buall @ligsg, ) e J3T se gy el suie o5 LalSs 14215 ollia

All combination of industrial robots and pizzas lying on the curve ( A, B, C, D, and E) are unattainable and full
employment

Any combination of industrial robots and pizzas lying outside the curve (such as W) unattainable.

Points inside the curve are attainable, and unemployment point.
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Example:

A production possibilities frontier for two products, sweaters and candles, is found below.

Candles

jiLLiiiiJv:\
>

10 20 30 40 50 60 70 8090 100
Sweaters

1. Refer to the production possibilities curve in the figure. Which point is unattainable? Point F

2. Refer to the production possibilities curve in the figure. Which point indicates that the resources are nor fully

utilized (unemployment) and

attainable? Point G

3. Refer to the production possibilities curve in the figure. Which point are unattainable and full employment?

Points A, B, C, D, and E

4. What is the maximum amount (x.s ,si) of Candles this economy can produce? 240 units

5. What is the maximum amount (w.s ,si) of sweaters this economy can produce? 100 units

Opportunity cost aludl io sl 2ais

The number of units of a specific good that must be given up to obtain one more unit of another good.
Gyl Al (0 8LaT Busg e Jguamel) Lae iedll cazmy @) Bins Zabi (o Slamg sue (2 ALl Ao ol 2415

Opportunity cost = negative slope of the production possibilities curve at each point

Example

Using the table (Production Possibilities of Pizzas and Industrial Robots) to answer the following

questions:

Type of product

Production Alternative

A B C D E
Pizzas 0 1 2 3 4
Robots 10 9 7 4 0

1. If the economy at point D. What is the opportunity cost of one more unit of industrial robots?

Opportunity cost of one more units of robots =

(Ain Pizzas

_(3-2)

2. What is the opportunity cost of the second unit of Pizza?

STUDENTS-HUB.com

A in industrial robots (4-7)

= -V4 units of Pizzas.
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(A in industrial robots _ (7—9)

Ainpizzas (2-1)

Opportunity cost = = - 2 units of robots.

Example
Suppose that a nation's production possibilities can be represented by the table below:

Production Alternatives
Products A B C D E
Food 0 4 8 12 16
Clothing 20 18 14 8 0

A. Graph the production possibilities curve put food on the x-axe (gl ;s=L1)

4 8 12 16 Food

B. Whatis the maximum amount of food this economy can produce? How much clothing can it produce at this point?

The greatest amount of food is 16 units, achieved by producing at alternative E. At this point, all resources are
devoted to food production and none to clothing production. Clothing production is zero.

C. Ifthe economy is producing at alternative C, what is the opportunity cost of one more unit of food?

. . A Clothing (8-14) 6 . .
Opportunity cost of one more unit of food = = = — = 1.5 units of clothing
A food (12-8) 4

D. If the economy is producing at alternative C, what is the cost of one more unit of clothing?

. . . A food
Opportunity cost of one more unit of clothing = — =
A clothing (

(4-8) 4 .
= — =1 unit of food
18-14) 4

E. If the economy is producing at alternative C, what is the cost of 4 more unit of food?

. . A Clothing (8-14) 6 . .
Opportunity cost of one more unit of food = = = — = 1.5 units of clothing
A food (12-8) 4

Opportunity cost of 4 more unit of food =1.5*4=6

Or from the table, as we move from point C to D, the consumer increase production of food by 4 units (8 to 12),
while decrease consumption of clothing by 6 ( 14 to 8 ).
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Example

Below is a production possibilities table for consumer goods “automobiles” and capital goods “Milk”

Type of product

Production Alternative

STUDENTS-HUB.com

A B C D E

automobiles 0 2 4 6 8
Milk 30 27 21 12 0

. If the economy at point C, what is the opportunity cost of one more automobile?

A Milk 12—-21 9 . .
— = ¢ )| =2 =4.5 liters of milk
A Automobile (6—-4 ) 2

Opportunity cost =

. If the economy at point B, what is the opportunity cost of two more automobile?

. . A Milk (21-27) 6
Opportunity cost of one more automobile = — = ==-=3
A Automobile (4-2) 2

Opportunity cost of two more automobile = Opportunity cost of one more * numbers of units

Opportunity cost of two more automobile =3 *2 =6

Or: From the table the economy must move from point B to point C. When the economy moving from point B to

point C, the economy must give up (27 - 21) = 6 liters of milk.

. If the economy at point B, what is the opportunity cost of one more liter of milk?

A Automobile _ | (0-2)
A Milk (30-27)

Opportunity cost = = g Automobile

. What is the opportunity cost of producing the 7™ units of automobile?

The economy must move from point D to point E.

A Milk (0-12) 12
AAutomobile (8-6 )

= 6 liters of milk

Opportunity cost =

. What is the opportunity cost of producing the 24" liters of milk?

The economy must move from point C to point B.

A Automobile (2-4)

: . . 2 .
Opportunity cost of one more liter of milk = - = = — Automobile
A Milk (27-21) 6

At point C, the amount of milk = 21. Increase production of milk to 24 means that the 3 more liters of milk increase

Opportunity cost of producing the 24" liters of milk = 3 * % =1
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6. If the economy producing 3 automobile and 20 liters of milk. Is the economy use of its all available recourses to
produce it? Explain

The point 3 automobile and 20 liters of milk lie inside the PPC. This point is attainable but it unemployment point
(not use of its all available recourses to produce it

7. What would production at point outside the production possibilities curve indicate? What must occur before the
economy can attain such a level of production?

Any point lie outside the production possibilities curve is unattainable point.

Before the economy can attain such a level of production it must increase the recourses of the production or
improvement in the level of technology used.

Example:
Refer to the diagram to answer questions that follow it
144A
128
10+
4 «C G
T 81
o i
@ S 15\D
4
2 :
L | i1 \E
0 2 4 6 8 10
Computers

A. If society is currently producing at point B, what is the opportunity cost of producing one more Computer?

If the economy at point B, and its wants to increase production of computers it will move from point B to point
C.

A Bicvel _
Bicycles _ [(9=12)| _ 3 = 1.5 bicycles

Opportunity cost = A Computer iz ) >

B. If society is currently producing at point D, what is the opportunity cost of producing one more Bicycle?

If the economy at point D, and its wants to increase production of bicycles, it will move from point D to point C.

A Computers (4-6) = 2 =1 computer

Opportunity cost = A Bicycles (9-5 ) 4

C. What is the total opportunity cost of twelve Bicycles

A Computers (2-8)

Opportunity cost of one bicycle = =5 - 2 computer
PP y y B A Bicycles (12-0 ) 12 2 P
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Total opportunity cost of twelve Bicycles =72 * 12 =6

D. If society is currently producing at point F, what is the opportunity cost of producing one more computer?
Opportunity cost =0
The society can increase production of computer without decrease the production of bicycles.

Any point inside the PPC, the opportunity cost at that points is zero.

Law of Increasing Opportunity Costs s.u! sill aal€ul o433

The law of increasing opportunity costs. As the production of particular good increases, the opportunity cost of
producing an additional unit rises.

olic 5,08 aue 9o 3§ cuadly (6,51 Zaludl (e Bulfe e Bmnnll ) 6352 Lo Balie oo Alline iy 7 il o) Bkl Al (g5l
B aSTI uaty alud) A3 7 L) e Zalesll ¢ Loy

Shape of the Curve:

Unattainable

The law of increasing opportunity costs is reflected in the shape of the
production possibilities curve: The curve is bowed out from the origin of the
graph. Figure shows that when the economy moves from A to E, it must give
up successively larger amounts of industrial robots (1, 2, 3, and 4). This is
shown in the slope of the production possibilities curve, which becomes
steeper as we move from A to E.

oW

Attainable

Industrial robots (thousands)
— ~N w S wv o ~ [+-] -]

o

1 2 3 4 § 6 7 8 9
Pizzas (hundred thousands)

e Production possibilities curve is bowed out from the origin because it reflects the law of increasing
opportunity cost.

Ao im0 B AL ARISEN 093L8 Sy 418 yLiell dmie z LY sl Goms oIS 13)]

PPF, Increasing Opportunity cost

TRUCKS

CARS
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e Production possibilities curve is straight line because it reflects the law of constant opportunity cost.
thqJ|&4Q)AlJlQLﬁ‘ajﬁiﬂ‘dajLéhﬁﬁhq 4%5 LLLM}U‘»MZLQF%ALWA<LL5 Ctﬁ?‘;thE;alc;ziA‘)EW5!

TRUCKS

Constant Opportunity cost
PPF,

CARS

The table below lists five points on the production possibilities frontier for chocolate bars and cans of cola.

Example
Production Production
Point chocolate bars | cans of cola
A 0 100
B 10 a0
C 20 70
D 30 40
E 40 0

Does the law of increasing opportunity cost hold here? Show how?

Production Production | Opportunity cost of one
Point chocolate bars | cans of cola | more chocolate bare
A 0 100 ==
B 10 90 1
C 20 70 2
D 3 10 3
E 10 0 4

When we move from A to B, opportunity cost of one more chocolate bare is 1, as we move from point B
to C, opportunity cost increase to 2, as move from point C to D, opportunity cost increase to 3 — production
possibilities curve follow the law of increasing opportunity cost

The table above represents the production possibilities frontier for Mobile Phone and Pizza.

Example

Points Mobile Phone Pizza
A 0 2,000
B 200 1,600
C 400 1,200
D 600 800
E 800 400
F 1,000 0

Does the law of increasing opportunity cost hold here? Explain?

STUDEMNTS-HUB.com
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Points Mobile Phone Pizza Opportunity cost of one more
Mobile phone

A 0 2,000
B 200 1,600 (1,600 - 2,000)\ (200-0) =2
C 400 1,200 (1,200 - 1,600) / (400 - 200) = 2
D 600 800 (800 -1,200) / (600 - 400) = 2
E 800 400 (400 -800) / (800 - 600) =2
F 1,000 0 (0-400) /(1000 -800) =2

When we move from A to B, opportunity cost of one more Mobile phone is 2, as we move from point B to C,
opportunity cost is 2, as move from point C to D, opportunity cost is 2 (constant) — production possibilities
curve follow the law of constant opportunity cost

Example: Choose the correct answer
1. A production possibilities curve shows:
A. That resources are unlimited.
B. That people prefer one of the goods more than the other.
C. The maximum amounts of two goods that can be produced, assuming the full use of available resources.
D. Combinations of capital and labor necessary to produce specific levels of output

2. Any point inside the production possibilities curve indicates:
A. The presence of technological change.
B. That resources are imperfectly substitutable among alternative uses.
C. The presence of inflationary pressures.
D. That more output could be produced with available resources

3. The typical production possibilities curve is:
A. an up-sloping line that is bowed out from the origin.
B. a down sloping line that is bowed in toward the origin.
C. a down sloping line that is bowed out from the origin.
D. a straight up sloping line.

4. The slope of the typical production possibilities curve:
A. is positive.
B. increases as one moves southeast along the curve.
C. is constant as one moves down the curve.
D. decreases as one moves southeast along the curve.

5. The production possibilities curve has:
A. a positive slope that increases as we move along it from left to right.
B. a negative slope that increases as we move along it from left to right.
C. a negative slope that decreases as we move along it from left to right.
D. a negative slope that is constant as we move along it from left to right.

6. Based on the following production possibilities curve answer the following question:
Refer to the above diagram. The concept of opportunity cost is best represented by
the:

A. Move from B on PPI to E on PP2.

B. Move from B on PPI to C on PP1.

C. Move from D inside PPI to B on PPI.

D. Shift of the production possibilities curve from PPl to PP2.

Capital goods

Consumer goods
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Optimal Allocation

Of all the attainable combinations of pizzas and industrial robots on the curve in Figure,
which is optimal (best)? That is, what specific quantities of resources should be allocated
to pizzas and what specific quantities should be allocated to industrial robots in order to
maximize satisfaction?

robots

alads JSy (C) Ahaailly (B) dhaailly (A) Ahaillé dx ) patzel) pubatig Lo (oadl ey z WY Slils) @mie of Loyl 5)S3
sda 3 Jsasy 4pud 8y89al) joliadl puer paseiwl 13] Lty O petzell Sy @ bl of Jlad) usi Jies gl e :
Productive Efficiency). & ls] 8¢S Jte3 gomill e aas &1 1ol s oo WLzl pizzas

Economic decisions center on comparisons of marginal benefit (MB) and marginal cost (MC). Any economic activity
should be expanded as long as marginal benefit exceeds marginal cost and should be reduced if marginal cost
exceeds marginal benefit. The optimal amount of the activity occurs where MB = MC. Society needs to make a
similar assessment about its production decision.

Consider pizzas. We already know from the law of increasing opportunity costs that the marginal costs of additional
units of pizza will raise as more units are produced. At the same time, we need to recognize that the extra or marginal
benefits that come from producing and consuming pizza decline with each successive unit of pizza. Consequently,
each successive unit of pizza brings with it both increasing marginal costs and decreasing marginal benefits.

The optimal quantity of pizza production is indicated by point e at the intersection of the MB and MC curves: 200,000
units in Figure. Why is this amount the optimal quantity? If only 100,000 units of pizzas were produced, the marginal
benefit of an extra unit of pizza (point g) would exceed its marginal cost (point b).When society gains something
worth $15 at a marginal cost of only $5, it is better off. In Figure above, net gains can continue to be realized until
pizza product production has been increased to 200,000.

$15

Marginal benefit and
marginal cost

=)

0 100,000 200,000 300,000

Quantity of pizza
IfMB>MC — production should be increased
IfMB <MC — production should be decreased

IfMB =MC — the optimal amount of the production occurs (optimal allocation)
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Productive Efficiency (wLul 5:LS)

The production of any particular good in the least costly way (ISl Jal daldl 7 L)).

o Each point occurs on the production possibilities curve represents productive efficiency.
o Each point occurs inside the production possibilities curve represents productive inefficiency.
Example:

A production possibilities frontier for two products, Tea and Scones, is found below.

Scones
(millions)

25

0 10 20 30 40 50
Tea (millions of cups)

Refer to the production possibilities curve in the figure.

1. Which point is unattainable? Point E

2. Which point is attainable and efficient? Points B, C, and D
3. Which point is ineffecient? Point A

Allocative efficiency ;g sl

The particular mix of goods and services most highly valued by society (sezl! a1l .t s L ¢ Ls)).

Economic Efficiency = Productive Efficiency + Allocative efficiency

Example: Choose the correct answer
1. The optimal point on a production possibilities curve is achieved where:
A. the smallest physical amounts of inputs are used to produce each good.
B. each good is produced at a level where marginal benefits equal marginal costs.
C. large amounts of capital goods are produced relative to consumer goods.
D. large amounts of consumer goods are produced relative to capital goods.

2. The marginal cost curve is:
A. upsloping because of increasing marginal opportunity costs.
B. upsloping because successive units of a specific product yield less and less extra utility.
C. downsloping because of increasing marginal opportunity costs.
D. downsloping because successive units of a specific product yield less and less extra utility.
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3. The output of MP3 players should be:
A. reduced if marginal benefits exceed marginal costs.
B. reduced if marginal costs exceed marginal benefits.
C. increased if marginal costs exceed marginal benefits.
D. reduced to zero if their unit costs exceed the unit costs of alternative products.

4. Refer to the above diagram. Points A, B, C, D, and £ show: 1444

A.

B
C.
D

That the opportunity cost of bicycles increases, while that of computers is 12 4B
constant.

. Combinations of bicycles and computers that society can produce by using its 310 ' W 6
resources efficiently. T 81 \
That the opportunity cost of computers increases, while that of bicycles is 2 6 Eq 2\ 2
constant. 4 1
. That society's demand for computers is greater than its demand for bicycles. "
| 1 i \NE
0 2 4 6 8 10
Computers

Unemployment, Growth, and the Future

Unemployment of Resources

Gt J5 15 Alass gf o o ing ALl Bygumy Aituns st ol Alitus pé z Y] polic Gaay G985 Lostie s z Y1 uolind JolSI) Caligall ane

Any point inside the production possibilities curve, such as U,
represents unemployment or a failure to achieve full employment.

The arrows indicate that by realizing full employment, the

economy could operate on the curve. This means it could produce
more of one or both products than it is producing at point U.

Example 12

Y umliad Lol Cadagall aue (a3 7 Lyl Lol
Q

o

Robots (thousands)

-_ N W A U NN W

0 I 2 3 4 /5 & 7 8 9
Pizzas (hundred thousands)

Refer to the production possibilities curve. 1 D

fans

1. Which point represents unemployment point? Point A M

2. Which points represent productive efficiency? Points B, and C

Thousands of s«
>

0 2 4 6 8 10 12

Thousands of convertibles
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Growing Economy sslLais¥l ool

When we drop the assumptions that the quantity and quality of resources and technology are fixed, the production
possibilities curve shifts positions and the potential maximum output of the economy changes.

Production possibilities curve shifters: zLo¥ ololSel goie JUnI ) 635 A1 (folgall

1. Increases in Resource Supplies: oyl jaball e 9 48 305

The increase in supplies of resources ( land, labor, capital, and entrepreneurial ability), improvements in
resource quality, move the production possibilities curve outward and to the right, allowing the economy
to have larger quantities of both types of goods ( Economic Growth).

The increase in supplies of resources, improvements in resource quality, shifts the production possibilities
curve outward and to the right (Economic Growth).

ST 5alis Aaall 39 sl LTSN Aty peizd] § Alalall $5illy (S all lit) Amals il 45 Hum ¥l 3505kl HeaS of Ly jia 13)
Sladl e ,«si ‘;,Lmscm of tal.‘x.“ lia @L,;_M Julls 45 by Aumr iyl 51 e? tal.‘x.“ I Byt of ALy oy 2l13 o) JLA_“;J|

A decrease in supplies of resources, shift the production possibilities curve inward and to the left from
PPC1 to PPC.. (Economic recession (gsbazsl 555).

Y )

©

2 PPC, g PPC,

" . S

8 _ Economxc Growth 8 ./ Economic recession
£

‘é & PPC,

“ 9 N4

& o

o )

2 0

o (4

o<

g

\
| |

Pizzas (hundred thousands)

Pizzas (hundred thousands)

2. Advances in Technology aeizl! Leasiug &I Lz gleiSil slas

An advancing technology brings both new and better goods and improved ways of producing them. Increase in
output leads to economic growth.

An advancing technology shifts PPC to the right, this leads to increase output.

Example: Choose the correct answer
1. Unemployment:
A. causes the production possibilities curve to shift outward.
B. can exist at any point on a production possibilities curve.
C. is illustrated by a point outside the production possibilities curve.
D. is illustrated by a point inside the production possibilities curve.
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2. A nation's production possibilities curve might shift to the left (inward) as a result of:
A. technological advance.
B. increases in the size of the labor force.
C. the depletion of its soil fertility (2,51 2545 <i15u.) due to overplanting and overgrazing (sl £,11)
D. investing in more capital goods.

3. Refer to the above diagram. The concept of economic growth is best represented
by the:

A. Move from point B to point C. g
B. Move from point C to point D. >
C. Move from point B to point E. .g;_
D. Move from point F to point E 3
4. Which of the following will shift the production possibilities curve to the right? o

Consumer goods

A. an increase in the unemployment rate from 6 to 8 percent

B. a decline in the efficiency with which the present labor force is allocated

C. a decrease in the unemployment rate from 8 to 6 percent

D. a technological advance that allows farmers to produce more output from given inputs

5. Which of the following will shift the production possibilities curve to the right?
A. an increase in the unemployment rate from 6 to 8 percent
B. a decline in the efficiency with which the present labor force is allocated
C. a decrease in the unemployment rate from 8 to 6 percent
D. a technological advance that allows farmers to produce more output from given inputs

Biased Growth and Unbiased Growth: ;e aeg 03l gkl goidl

093 Lo dalae 7 L) Babyd Ayl Ssimy O3l pid ) gaidl Ll Al iy 33Lud) WL § (Pizza and Robots ) el aer Z Ll s Ledie O3leall goidl ey
LSS Z ) e 535 0F O plakadl 7 L] Bl (3] $35uwe Lo 1y Aue )3l (0,81 5aL5 ey of alalall 7 Ll uols Lz sJ5iSs pslas @y a8, JUll i Jad lape

Generally we assume an increase in available resources raises the production capacity of both goods. An
improvement in technology, however, may be specific to one product. In this situation the PPC shifts outward only
along one axis.

Improvement that benefits both Improvement that benefits
products. PPC shifts outwards onlyPizza PPC shifts to the
from PPC1to PPC2. 2z right from PPC1 to PPC2,
3| b
€ PPC, &
5 - 2
35
5 / 2
C PPCN \ = RN
2 5 \
o PPC
2 0 PPC, \/'\ 2
< P 4 \
\ F
\ !
Pizzas (hundred thousands) Pizzas (hundred thousands)
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Example: Choose the correct answer

©
1. Which of the following could explain the shift in the production possibilities frontier % A
from AB to AC =
A. technological improvement in both television production and computer
production
B. technological improvement in television production that has no effect on
computer production
C. technological improvement in computer production that has no effect on =
television production
D. anincrease in the labor that can produce either television products or computer BCOmpuf,,

2. To improve the rate of growth of labor productivity a number of economists have suggested that there needs to
be:
A. Improved microeconomic budgeting
B. Anincrease in investment relative to consumption
C. Elimination of the large deficit in international trade
D. A reduction in defense spending and an increase in spending on social programs

3. The optimal point on a production possibilities curve is achieved where:
A. The smallest physical amounts of inputs are used to produce each good.
B. Each good is produced at a level where marginal benefits equal marginal costs.
C. Large amounts of capital goods are produced relative to consumer goods.

-
o

A
D. Large amounts of consumer goods are produced relative to capital goods. . :
g7 8
4. Refer to the graph. Which point in the graph would allow a simultaneous increase inthe © g
production of both investment and consumer goods? g5 o
A. A %4
B. B % : D
C.C e
D. D £

0
Con:umir G300d4s
5. The negative slope of the production possibilities curve is a graphical way of indicating

that:

A. Any economy "can have its cake and eat it too."

B. To produce more of one product we must do with less of another.

C. The principle of increasing opportunity costs applies to only parts of the economy.

D. Consumers buy more when prices are low than when prices are high.

6. Refer to the diagram. Other things equal, this economy will achieve the most rapid rate of growth if:
A. The ratio of capital to consumer goods is minimized.
B. It chooses point C.

C. It chooses point B.

D

. A =
. It chooses point A. . .
3 B
§ .
3 #
[- %
i o€
0 Consumer Goods
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Chapter One Appendix: Graphs and Their Meaning

Construction of a Graph

A graph is a visual representation of the relationship between two variables.

¥ Bolazdly . paadl Laany ae cupdie A8e dass O iy Losie 2nlsg 2usland ¥ clysall o Sl sy Juted dI g 2sledl oyl o
) @3biall semll " ageall semll (Aeg (Horizontal Axis ) "Gu—udl sl " gs.éi(l sell e gl naelaie Guygzme ey o @ Sl deedd) Adee @
29kl pasasy o> (independent ) Jaius ,3¥g (dependent ) pls Leausi |, cumate dulys ao Tus cwliss Sledl ool Alece oo LS (Vertical Axis

(Independent ) Jazul! saxell (Horizontal Axis) guud! s9=lls (dependent ) alill paxeld (Vertical Axis) gsball

The table in Figure 1 is a hypothetical illustration showing the relationship between income and consumption for the
economy as a whole. Without even studying economics, we would logically expect that people would buy more
goods and services when their incomes go up. Thus, it is not surprising to find in the table that total consumption in
the economy increases as total income increases. The information in the table is expressed graphically in Figure 1.
Here is how it is done: We want to show visually how consumption changes as income changes. We therefore
represent income on the horizontal axis of the graph and consumption on the vertical axis.

Income Consumption . $400
per Week per Week Point
$ 0 5 50 a 300 Consumptioh
00 00 b 9 ¢ =50 + Jsy e
200 150 c 5 \ P
300 200 d ‘EL 200
400 250 e 3 c
c
o
b
Y oo /-/
«

0 $£100 200 300 400
Income (Y)
«»+ If the curve is a straight line, as in Figure, we say the relationship is linear.

Direct and Inverse Relationships acusSall a8 alig das all a5all

The line in Figure above slopes upward to the right, so it depicts a direct relationship between income and
consumption. By a direct relationship (or positive relationship) we mean that two variables change in the same
direction. An increase in consumption is associated with an increase in income; a decrease in consumption
accompanies a decrease in income. When two sets of data are positively or directly related, they always graph as
an upsloping line, as in Figure above.

In contrast, two sets of data may be inversely related. Consider the table in Figure below, which shows the
relationship between the price of basketball tickets and game attendance. Here we have an inverse relationship (or
negative relationship) because the two variables change in opposite directions. When ticket prices decrease,
attendance increases. When ticket prices increase, attendance decreases. The six data points in the table in Figure
2 are plotted in the graph. Observe that an inverse relationship always graphs as a down sloping line
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Ticket Attendance, Poi a
Price Thousands oint $30 '\.,_
$50 0 a \ b
40 4 b 40—
4 P=50-2.5Q
30 8 c <
20 12 d g 30 <
10 16 £ o
f B . d
0 20 2 g :
N\ © Ticket
o “demand
3 i
0 - 8 12 16 20

Attendance in thousands (Q)
» When two sets of variables are positively or directly related, they always graph as an upward sloping
line.

» When two sets of variables are negatively or inversely related, they always graph as a down sloping
line.

Multiple Choices:

1. If we say that two variables are directly related, this means that:
A. the relationship between the two is purely random.
B. an increase in one variable is associated with a decrease in the other variable.
C. anincrease in one variable is associated with an increase in the other variable.
D. the two graphs as a down sloping line.

2. If we say that two variables are inversely related, this means that:
A. the two graph as an upsloping line.
B. an increase in one variable is associated with a decrease in the other.
C. an increase in one variable is associated with an increase in the other.
D. the resulting relationship can be portrayed by a straight line parallel to the horizontal axis.

3. Refer to the diagram. Which line(s) show(s) a positive relationship between x and y?
A. Aonly.
B. A and D only. y
C. C.A,B,andD.
D. BothCandE.

4. Refer to the diagram. Which line(s) show(s) a negative relationship between B
x and y? %
A. Aonly.
B. both A and D.

C. A, B,andD.
D. BothCandE.
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5. If a positive relationship exists between x and y:
A. an increase in x will cause y to decrease.
B. a decrease in x will cause y to increase.
C. the relationship will graph as an upsloping line.
D. the vertical intercept must be positive.

6. If price (P) and quantity (Q) are directly related, this means that:
A. a change in Q will alter P, but a change in P will not alter Q.
B. if P increases, Q will decrease.
C. if P increases, Q will also increase.
D. an increase in P will cause Q to change, but the direction in which Q changes cannot be predicted.

Dependent and Independent Variables

The independent variable is the cause or source; it is the variable that changes first.

Dependent variable is the effect or outcome; it is the variable that changes because of the change in the independent
variable.

As in our income-consumption example, income generally is the independent variable and consumption the
dependent variable. Income causes consumption to be what it is rather than the other way around. Similarly, ticket
prices determine attendance basketball games; attendance at games does not determine the printed ticket prices
for those games. Ticket price is the independent variable and the quantity of tickets purchased is the dependent
variable.

Mathematicians put the independent variable (cause) on the horizontal axis and the dependent variable
(effect) on the vertical axis.

Multiple Choices:

1. Which of the following statements is correct?
A. The value of the independent variable is determined by the value of the dependent variable.
B. The value of the dependent variable is determined by the value of the independent variable.
C. The dependent variable designates the "cause" and the independent variable the "effect."
D. Dependent variables graph as upsloping lines; independent variables graph as downsloping lines.

Slope of a line

The slope of a straight line is the ratio of the vertical change to the horizontal change between any two points of
the line.

Vertical change Ay

Slope =

Horizontal change T Ax

Positive Slope

Slope is positive when X and Y have a direct relationship. Because consumption and income change in the
same direction; that is, consumption and income are directly or positively related.
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Example:

Income Consumption
per Week per Week Polat
$ 0 $ 50 a
100 100 b
200 150 4
300 200 d
400 250 e

Calculate the slope between point b and c.

Because income is the independent variable and consumption the dependent variable, when we plotted the graph
we put consumption on the vertical axis and income in the horizontal axis.

A Consumption _ (150—100) 50
A Income (200—-100) 100

Slope = =%

The slope of 0.5 tells us there will be a $0.5 increase in consumption for every $1 increase in income. Or when
income increase by $2, consumption increase by $1.

Negative Slope

Slope is negative when X and Y have an inverse relationship.

Ticket Attendance, .
Example: Price Thousands Point
: . $50 0 a
The slope between point a and b is: 40 4 b
A Ticket pri (40-50) 10 i : )
1ICKet price - — — d
Slope = = = =25 20 12
A Attendence (4—-0) 4 10 16 ¢
0 20 f

The slope of - 2.5 means that when person attendance increase by 1 person, then the ticket price reduce by
$2.5

Slopes and Marginal Analysis

The concept of slope is important in economics because it reflects marginal changes-those involving 1 more
(or 1 less) unit. For example, the 0.5 slope shows that $.50 of extra or marginal consumption is associated with
each $1 change in income. In this example, people collectively will consume $.50 of any $1 increase in their
incomes and reduce their consumption by $.50 for each $1 decline in income.

Infinite and Zero Slopes

Slope =
. . [ infinite A

Many variables are unrelated or independent of one g $

another, the slope of this line is infinite or zero. 3 3 O

A line parallel to the vertical axis («lsLall ;5=L s5156) has an ; g

o g S

infinite slope. o

A line parallel to the horizontal axis (ol 3=l s3l5e) has

a zero slope. 0 Purchases of watches 0 Divorce rate
(a) (b)
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intercept means that if current income were zero, consumers
would still spend $50. They might do this through borrowing or
by selling some of their assets. Similarly, the $50 vertical 200
intercept in Figure 2 shows that at a $50 ticket price, GSU’s
basketball team would be playing in an empty arena.

Vertical Intercept G $400

c

o
The vertical intercept of a line is the point where the line meets (4 Conkumptioh
the vertical axis. In Figure below the intercept is $50. This § 300

2 ¢ =150+ 5y e

S

100
‘-\\_;0/

0 $100 200 300 400
Income (Y)

lverﬂcol iniercepil

Multiple Choices:

1. Refer to the above diagram. The variables X and Y are:

A. inversely related. 100+ =TT
B. directly related. . } ! | 1 / !
|
|

C. unrelated.
D. negatively related.

2. Refer to the above diagram. The vertical intercept:
A.is 40.
B. is 50.
C.is 60.
D. cannot be determined from the information given.

]
|
i
]
T
|

\
-
\
2°'T'
\

3. Refer to the above diagram. The slope of the line: 0 40 80 120 160 200 X

Ais 4.
B.is+ 4.
C.is 0.40.
D. cannot be determined from the information given.

4. Refer to the above data sets. The vertical intercept is (1) (2) (3) (4) (5)
positive for: J K L M N P R T u v
A. all five data sets. 015 100 40 0 -15 0 o
B. data sets 1 and 3 only. 40 20 30 -5 80 50 20 -25 5 10

C. data sets 1, 3, and 5 only. 80 30 60 5 60 60 40 -35 10 20
D. data set 2 only. 120 40 90 15 40 70 60 -45 15 30

160 50 120 25 20 80 80 -55 20 40
200 60 150 35 100 -65 25 50

Equation of a Linear Relationship

If we know the vertical intercept and slope, we can describe a line succinctly in equation form. In its general form,
the equation of a straightlineisy = a + bx

Where y = dependent variable
a =vertical intercept
b =slope of line
X =independent variable

For our income-consumption example, if C represents consumption (the dependent variable) and Y represents
income (the independent variable), we can write C = a + bY.
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By substituting the known values of the intercept and the slope, we get C = 50 + 0.5 Y. This equation also allows
us to determine the amount of consumption C at any specific level of income. You should use it to confirm that at
the $250 income level, consumption is $175.

Example:
Refer to the diagram below write the linear equation that shows the relationship Y
between Y and X
100 |
The linear equation form: y = a + bx 80—4——| /_/
a =vertical intercept = 50 [ 14 [ ]
p 60 .// H
b =slope of line 40 +————1 ;
AR
Vertical change Ay _ (70-60) _ 10 _ | 20 T
S|ope= - = s —_— = = /4
Horizontal change Ax (80—-40) 40 \

0 40 80 120 160 200

> y=50+ix

Slope of a Nonlinear Curve

The slope of a straight line is the same at all its points. The slope of a line representing a nonlinear relationship
changes from one point to another. Such lines are always referred to as curves.

To measure the slope at a specific point on nonlinear curve, we draw a straight line tangent (_.L.s) to the curve
at that point. (A line is tangent at a point if it touches, but does not intersect).

0 5 10 15 20
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CHAPTER 2

The Market System and the Circular Flow
Al (3B g (g genl) Al
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Econ 131 Chapter 2: The Market System and the Circular Flow 4 el Jaaa

Economic Systems:  &,sLaid¥| (ol

Economic system: a particular set of institutional arrangements and a coordinating mechanism to achieve
economics goals.

AST ] Blaa¥l sda (rayass a8y Led ity (G 2polatd ¥l Cbluall Guaxs J) LIS o petzll (aun @ Slucusll Ao gazmo 45l golinid ¥l alladll Cbyay
Lo abedl Hlasd § 5 aadlly,casall mlill G sailly meizell 31,81 o Layes § Alaadly el (he 4ueS
Economic system has to determine what goods are produced, how they are produced, who gets them, how to

accommodate changes, and how to promote technological progress. Economic systems differ as to (1) who owns
the factors of production and (2) the method used to motivate, coordinate, and direct economic activity.

Hangll 4abatd¥l ol o olegs b aeizll 51,81 (o Leasies ot .89 Lx i) oy a8y« Lz Ll et Gl sleasddly alud! sy golazd¥ allasl
izl o1 oy leasely piliaddl el dawldy, Ayoliand ¥l JSLALI dadlas 2y, A il 5)lshl Ao G (y0 Litas Lawd calizes &)

Laissez-Faire Capitalism (Pure Capitalism) =i JlewiJf aliadl

Laissez-faire capitalism, in which government interaction is at a very minimum and markets and prices are
allowed to direct nearly all economic activity.

&bzt LLAUI S 4z gty Hlaadlly 3loudl) oy Lon « (3o¥1 bus e Gl § asSd| Jsatdl 0585 i ¢ (U3l e By ) Had) el g &
In pure capitalism—or laissez-faire capitalism— government’s role would be limited to protecting private property
and establishing an environment appropriate to the operation of the market system. The term “laissez-faire”

means ‘“let it be,” that is, keep government from interfering with the economy. The idea is that such interference
will disturb the efficient working of the market system.

oo RasSnll pte Gay " oay des” s Boed! pllss Ja dd) calie gy s Lails Aol 2SI Alon (e Bgunia ZagSinll 95 550 yoadl Jloel ] Bge 3
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The Command (Socialism) System ;¥ alaill

In that system, government owns most property resources and economic decision making occurs through a central
economic plan. A central planning board appointed by the government makes nearly all the major decisions
concerning the use of resources, the composition and distribution of output, and the organization of production.

The government owns most of the business firms, which produce according to government directives. The central
planning board determines production goals for each enterprise and specifies the amount of resources to be
allocated to each enterprise so that it can reach its production goals. The division of output between capital and
consumer goods is centrally decided, and capital goods are allocated among industries on the basis of the central
planning board’s long-term priorities.
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The Market System (capitalism)" ilewi i alaid” Ggull alias

The system is characterized by the private ownership of resources and the use of markets and prices to coordinate
and direct economic activity. Participants act in their own self-interest. Individuals and businesses seek to
achieve their economic goals through their own decisions regarding work, consumption, or production. The
system allows for the private ownership of capital, communicates through prices, and coordinates economic
activity through markets—places where buyers and sellers come together. Goods and services are produced and
resources are supplied by whoever is willing and able to do so. The result is competition among independently
acting buyers and sellers of each product and resource.

LSlas & o sl sl 31 o1 31,80 b (5,591 20Laz8Y1 3,151 (oo Lot g (51819 e Lily (v |18 7 sl oL Bum L) 2SSl 1 plasll 51y Lo end
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Example: Choose the correct answer
1. Economic planning by central government agencies is primarily associated with

A. Command economies.

B. Market economies.

C. Laissez faire economies.
D. Mixed economies.

2. The market system is an economic system that:
A. Produces more consumer goods than capital goods
B. Produces more capital goods than consumer goods
C. Gives private individuals the right to own resources used in production
D. Emphasizes the government's power to control markets and direct economic activity

3. One element of the command system is:
A. Capitalism
B. Free markets
C. Private ownership
D. Central planning

4. Which would notbe characteristic of a capitalist economy?
A. Government ownership of most factors of production
B. Competition and unrestricted markets
C. Reliance on the market system
D. Freedom of enterprise and choice

5. In a command system:
A. The government makes production and allocation decisions
B. Market traders command what outputs are produced and how they are allocated
C. Government ownership of most factors of production (resources)
D. Both A and C are true

6. Laissez-faire capitalism (pure capitalism) is characterized by:
A. Very limited government role in the economy
B. government’s role would be limited to protecting private property
C. Private ownership of resources and the use of market and prices to coordinate and direct economic activity
D. All of the above

7. An economic system in which the government decides what goods are produced, how they are produced,
and for whom they are produced is known as a
A. Market system
B. Command system
C. Capitalism
D. Laissez-fair capitalism
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Characteristics of the Market System ( JLewi )l allal) gl allss yaibns.
e Private Property 7Ly ol dolall 28U

In a market system, private individuals and firm, not the government, own most of the property resources
(land and capital). It is this extensive private ownership of capital that gives capitalism its name.
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e

e Freedom of Enterprise and Choice gslLais¥! LLadll,Las! &,

Businesses are free to obtain and use economic resources to produce their choice of goods and serves and
to sell them in their chosen market.
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o Self-Interest {axidl axlall

In the market system, self-Interest is the motivating force of the various economic units as they express their
free choices. Self-Interest simply means that each economic unit tries to achieve its own particular goal,
which usually requires delivering something of value to others.
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Entrepreneurs try to maximize profit or minimize loss. Property owners try to get the highest price for the
sale or rent of their resources. Workers try to maximize their utility (satisfaction) by finding jobs.

o Competition .l

The market system depends on competition among economic units. Competition requires two or more
buyers and two or more seller acting independently in a particular product or resources market. Freedom
of sellers and buyers to enter or leave markets.
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e Market and Prices .l 2l

In the market system, markets, prices, and profits organize and market effective the many millions of
individual economic decision that occur daily.
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¢ Technology and Capital Goods L.>g!sisal

Advanced technology and capital goods are important because the most direct methods of production
are often the least efficient.
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e Specialization

Specialization is the use of resources of an individual, firm, region, or nation to produce one or a few
goods or services. These goods and services are then exchanged for a full range of desired products.
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e Use of money sgaill Jloaiu!

The characteristic of any economic system is the extensive use of money. Money performs several
functions, but first and foremost it is a medium of exchange.
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e Active, but limited, government

An active, but limited, government is the final characteristics of market system in modern advanced
industrial economies. Although a market system protests a high degree of efficiency in the use of its
resources.
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Example: Choose the correct answer
1. Which of the following is nota characteristic of the market system?
A. Private property.
B. Freedom of enterprise.
C. Govermnment ownership of major industries.
D. Competition in product and resource markets.

2. Which of the following is a fundamental characteristic of the market system?
A. Property rights.
B. Central planning by government.
C. Unselfish behavior.
D. Government-set wages and prices.

3. Specialization in production is important primarily because it:
A. Results in greater total output.
B. Allows society to avoid the coincidence-of-wants problem.
C. Allows society to trade by barter.
D. Allows society to have fewer capital goods.

4. Competition means that:
A. Sellers can manipulate market price by causing product scarcities.
B. There are independently-acting buyers and sellers in each market.
C. A product can be purchased at a number of different prices.
D. There is more than one seller in a market

5. The use of money contributes to economic efficiency because:
A. Governmental direction of the production and distribution of output can be avoided by using money.
B. Roundabout production could not occur without the availability of money.
C. ltis necessary for the creation of capital goods.
D. It promotes specialization by overcoming the problems with barter.

Five Fundamental Questions: Loyl ele L qige 1 550!

The key features of the market system help explain how market economies respond to five fundamental
qguestions:

- What goods and services will be produced?

- How will the goods and services be produced?
- Who will get the goods and services?

- How will the system accommodate change?

- How will the system promote progress?

e What Will Be Produced? seixl! Lzt @I cleaidly aludl 2 Ls

The goods and services produced at a continuing profit will be produced, and those produced at a continuing loss
will not. Profits and losses are the difference between the total revenue (TR) a firm receives from the sale of
its products and the total opportunity cost (TC) of producing those products.

The market system produces products whose production and sale yield total revenue sufficient to cover total

cost (TR > TC = profit). It does not produce products for which total revenue continuously falls short of total
cost (TR < TC = losses). Competition forces firms to use the lowest-cost production techniques.
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In the market system, consumers are sovereign (in command). Consumer sovereignty is crucial in determining
the types and quantities of goods produced. Consumers spend their income on the goods they are most willing
and able to buy. Through these “dollar votes” they register their wants in the market. If the dollar votes for a
certain product are great enough to create a profit, businesses will produce that product and offer it for sale. In
contrast, if the dollar votes do not create sufficient revenues to cover costs, businesses will not produce the
product. So the consumers are sovereign.
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* How will the goods and services be produced? «laxly alud! zuis oS

What combinations of resources and technologies will be used to produce goods and services? How will the
production be organized? The answer: In combinations and ways that minimize the cost per unit of output.
Because competition eliminates high-cost producers, profitability requires that firms produce their output at
minimum cost per unit. Achieving this least-cost production necessitates, for example, that firms use the right
mix of labor and capital, given the prices and productivity of those resources. It also means locating
production facilities optimally to hold down production and transportation expenses. Least-cost production
also means that firms must employ the most economically efficient technique of production in producing their
output. The most efficient production technique depends on the available technology, that is, the various
combinations of resources that will produce the desired results, the prices of the needed resources.
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e How will get the goods and services? by aludl i o

The market system enters the picture in two ways when determining the distribution of total output. Generally,
any product will be distributed to consumers on the basis of their ability and willingness to pay its existing
market price. The ability to pay the prices for products depends on the amount of income that consumers
have, along with the prices of, and preferences for, various goods. If consumers have sufficient income and
want to spend their money on a particular good, they can have it.
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e How will the system accommodate change? sl ccyiud i galaid¥l allaill o Sey auS

Market systems are dynamic: Consumer preferences, technology, and supplies of resources all change. This
means that the particular allocation of resources that is now the most efficient for a specific pattern of
consumer tastes, range of technological alternatives, and amount of available resources will become
obsolete and inefficient as consumer preferences change, new techniques of production are discovered, and
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resource supplies change over time. Can the market economy adjust to such changes? Suppose consumer
tastes change. For instance, assume that consumers decide they want more fruit juice and less milk than the
economy currently provides. Those changes in consumer tastes will be communicated to producers through
an increase in spending on fruit and a decline in spending on milk. Other things equal, prices and profits in
the fruit juice industry will rise and those in the milk industry will fall
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e How will the system promote progress? a.aul e sobaid¥l allaill axdn S

Society desires economic growth (greater output) and higher standards of living (greater income per person).
How does the market system promote technological improvements and capital accumulation, both of which
contribute to a higher standard of living for society?
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The “Invisible Hand” sl udl agis

In his 1776 book The Wealth of Nations, Adam Smith first noted that the operation of a market system creates a
curious unity between private interests and social interests. Firms and resource suppliers, seeking to further their
own self-interest and operating within the framework of a highly competitive market system, will simultaneously,
as though guided by an “invisible hand,” promote the public or social interest. For example, we have seen that in
a competitive environment, businesses seek to build new and improved products to increase profits. Those
enhanced products increase society’s well-being. Businesses also use the least costly combination of resources
to produce a specific output because doing so is in their self-interest.
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Example: Choose the correct answer

1.

Which of the following is one of the Five Fundamental Questions?

A. Which products will be in scarce supply and which in excess supply?
B. Who should appoint the head of the central bank?

C. How much should society save?

D. What goods and services will be produced?

The market system's answer to the fundamental question "What will be produced?" is essentially:
A. "Goods and services that are profitable."

B. "Low cost goods and services."

C. "Goods and service that can be produced using large amounts of capital."

D. "Goods and services that possess lasting value."

The market system's answer to the fundamental question "How will the goods and services be produced?"
is essentially:

A. "With as much machinery as possible."

B. "Using the latest technology."

C. "By exploiting labor."

D. "Using the least-cost production techniques."

The market system's answer to the fundamental question "Who will get the goods and services?" is essentially:
A. "Those willing and able to pay for them."

B. "Those who physically produced them."

C. "Those who most need them."

D. "Those who get utility from them."

The market system's answer to the fundamental question "How will the system accommodate change?" is
essentially:

A. "Through government leadership and direction."

B. "Through the guiding function of prices and the incentive function of profits."

C. "Through training and retraining programs."

D. "Through trial and error."

. The market system's answer to the fundamental question "How will the system promote progress?" is

essentially:

A. "Through government funded research programs."

B. "Through redistribution of income to promote greater equality.”

C. "Through training and retraining programs."

D. "Through the profit potential that encourages development of new technology."

“Consumer sovereignty” refers to the:

A. Fact that resource prices are higher than product prices in capitalistic economies.

B. ldea that the pursuit of self-interest is in the public interest.

C. ldea that the decisions of producers must ultimately conform to consumer demands.

D. Fact that a Federal agency exists to protect consumers from harmful and defective products.

“Consumer sovereignty” means that:

A. Buyers can dictate the prices at which goods and services will be purchased.

B. Advertising is ineffective because consumers already know what they want.

C. Buyers control the quality of goods and services through regulatory agencies.

D. Buyers determine what will be produced based on their “dollar votes” for the goods and services offered by sellers.

The invisible hand refers to the:

A. Fact that the U.S. tax system redistributes income from rich to poor.

B. Notion that, under competition, decisions motivated by self-interest promote the social interest.
C. Tendency of monopolistic sellers to raise prices above competitive levels.

D. Fact that government controls the functioning of the market system.
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The dynamic market economy creates continuous, repetitive flows of goods and services, resources, and
money. The circular flow diagram, shown in Figure below illustrates those flows. Observe that in the diagram we
group private decision makers into businesses and households and group markets into the resource market and
the product market.

Resource Market:

The place where resources or the services of resource suppliers are bought and sold. In the resource market,
households sell resources and businesses buy them. Households (that is, people) own all economic resources
either directly as workers or entrepreneurs or indirectly through their ownership of business corporations. They
sell their resources to businesses, which buy them because they are necessary for producing goods and
services.
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Product Market

The product market: the place where goods and services produced by businesses are bought and sold. In the
product market, businesses combine resources to produce and sell goods and services. Households use the
(limited) income they have received from the sale of resources to buy goods and services. The monetary flow of
consumer spending on goods and services yields sales revenues for businesses.
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Resources flow from households to businesses through the resource market.

Products flow from businesses to households through the product market.

Opposite these real flows are monetary flows. Households receive income from businesses (their
costs) through the resource market, and businesses receive revenue from households (their

expenditures) through the product market.

In this circular flow diagram, resources flow counterclockwise (aclul olac WSe).

In this circular flow diagram, money flows clockwise.

Example: Choose the correct answer

1.

In the resource market:

A. Businesses borrow financial capital from households.
B. Businesses sell services to households.

C. Households sell resources to businesses.

D. firms sell raw materials to households

The resource market is the place where:

A. Households sell products and businesses buy products.

B. Businesses sell resources and households sell products.

C. Households sell resources and businesses buy resources (or the services of resources).
D. Businesses sell resources and households buy resources (or the services of resources).

The simple circular flow model shows that:

A. Households are on the buying side of both product and resource markets.

B. Businesses are on the selling side of both product and resource markets.

C. Households are on the selling side of the resource market and on the buying side of the product market.
D. Businesses are on the buying side of the product market and on the selling side of the resource market.

In this circular flow diagram:

A. Money flows counterclockwise.

B. Resources flow counterclockwise.

C. Goods and services flow clockwise.

D. Households are on the selling side of the product market.

In this circular flow diagram:

(A) Households spend income in the product market.

(B) Firms sell resources to households.

(C) Households receive income through the product market.

(D) Households produce goods.

(1) 8 (3)
Refer to the above figure. If box A represents households, B the product '
market, and C businesses, and if flow (3) represents revenues, then (4) (@) (4)
would represent ____ while flow (5) would represent ____.

A. Resources; goods and services

B. Goods and services; resources A ¢
C. Costs; resources
D. Goods and services; costs.
(7) (5)
(8) D (6)
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CHAPTER 3

Demand, Supply, and Market Equilibrium
Al 018 o2 adl g culkal)

STUDENTS-HUB.com Uploaded By: anonymous



-

Econ 131 Chapter 3: Demand, Supply, and Market Equilibrium Ay pale dana

Markets

Markets bring together buyers (“demanders”) and sellers (“suppliers”), and they exist in many forms. The corner gas
station, an e-commerce site, the local music store, a farmer’s roadside stand—all are familiar markets. Palestinian
Stock Exchange is a market where buyers and sellers of stocks and bonds and farm commaodities from all over the
world communicate with one another to buy and sell.
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Demand is a schedule or a curve that shows the various amounts of a product that consumers are willing and able
to purchase at each of a series of possible prices during a specified period of time. Demand shows the quantities of
a product that will be purchased at various possible prices, other things equal.
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Law of Demand i oesls

Other thing equal, as price falls, the quantity demanded rises, and as price rises, the quantity demanded falls.
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P1 =2 Qg or P| =Qq41

There is a negative or inverse relationship between price and quantity demanded. aslall 2y yaull cn 2use 28Me g

Demand schedule or demand curve

Because price and quantity demanded are inversely related, an individual's demand schedule graphs as a down
sloping curve such as D. Other things equal, consumers will buy more of a product as its price declines and less of
the product as its price rises.

Price
Demand Schedule (dollars per
smartwatch)
Price Quantity (millions of

(dollars per smartwatch) smartwatches per week) $450
$450 3 i
350

400 4
300

350 5
250

300 6

Demand
250 7

0o 3 4 5 6 7 Quantty
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The inverse relationship between price and quantity demanded for any product can be represented on a simple
graph, in which, by convention, we measure quantity demanded on the horizontal axis and p rice on the vertical axis.
Such a curve is called a demand curve. Its downward slope reflects the law of demand—people buy more of a
product, service, or resource as its price falls. The relationship between price and quantity demanded is inverse (or
negative).

Why the inverse relationship between price and quantity demanded?
Three explanations of these relationships

o People ordinarily do buy more of a product at a low price than at a high price. Price is an obstacle that deters
consumers from buying. The higher that obstacle, the less of a product they will buy; the lower the price obstacle,
the more they will buy.
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¢ In any specific time period, each buyer of a product will derive less satisfaction (or benefit, or utility) from each
successive unit of the product consumed. The second Big Mac will yield less satisfaction to the consumer than
the first and the third still less than the second. That is, consumption is subject to diminishing marginal utility. And
because successive units of a particular product yield less and less marginal utility, consumers will buy additional
units only if the price of those units is progressively reduced.
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e We can also explain the law of demand in terms of income and substitution effects.

The income effect indicates that a lower price increases the purchasing power (w41 5,51 of @ buyer's money
income, enabling the buyer to purchase more of the product than before.
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The substitution effect suggests that at a lower price buyer have the incentive to substitute what is now a less
expensive product for similar products that are now relatively more expensive.
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For example, a decline in the price of chicken will increase the purchasing power of consumer incomes, enabling
people to buy more chicken (the income effect). At a lower price, chicken is relatively more attractive and consumers
tend to substitute it for lamb, beef, and fish (the substitution effect). The income and substitution effects combine to
make consumers able and willing to buy more of a product at a low price than at a high price.
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Example: Choose the Correct Answer
1. Demand is the total quantity of a good or service that customers:
A. Are willing to purchase.
B. Are able to purchase.
C. Are willing and able to purchase.
D. Need.

2. The law of demand states that, other things remaining the same, the higher the price of a good, the
A. Smaller is the demand for the good.
B. Smaller is the quantity of the good demanded
C. Larger is the quantity of the good demanded.
D. Larger is the demand for the good.

3. The law of demand states that the quantity of a good demanded varies
A. Inversely with its price.
B. Directly with population.
C. Directly with income.
D. Inversely with the price of substitute goods.

4. Each point on the demand curve reflects
A. The highest price consumers are willing and able to pay for that particular unit of a good.
B. The highest price sellers will accept for all units they are producing.
C. The lowest-cost technology available to produce a good.
D. All the wants of a given household.

5. When the price of a product increases, a consumer is able to buy less of it with a given money income. This
describes the:
A. Cost effect.
B. Inflationary effect.
C. Income effect.
D. Substitution effect.

6. An increase in the price of a product will reduce the amount of it purchased because:
A. Supply curves are upsloping.
B. The higher price means that real incomes have risen.
C. Consumers will substitute other products for the one whose price has risen.
D. Consumers substitute relatively high-priced for relatively low-priced products.

7. When the price of a product rises, consumers shift their purchases to other products whose prices are now
relatively lower. This statement describes:
A. An inferior good.
B. The rationing function of prices.
C. The substitution effect.
D. The income effect.

8. Which is consistent (s:z) with the law of demand?

A. A decrease in the price of Iced coffee causes no change in the quantity of Iced coffee demanded
B. Anincrease in the price of Iced coffee causes an increase in the quantity of Iced coffee demanded
C. Adecrease in the price of Iced coffee causes a decrease in the quantity of Iced coffee demanded
D. A decrease in the price of Iced coffee causes an increase in the quantity of Iced coffee demanded

9. The horizontal axis of a graph which shows a market demand curve indicates the:
A. Prices at which various levels of output can be sold
B. Number of consumers who are in the market for this product
C. Various quantities of output at which the market will be cleared
D. Quantities which consumers will be willing and able to buy at various prices
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Individual Demand .41 bl

Is the quantity demand by single buyer at each price level.
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Market Demand &q.! b

The market demand is the summation the quantities demanded by all consumers at each of the various possible
prices. The market demand curve is the horizontal summation of the individual demand curves of all the consumers

in the market.
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Example
Suppose that there are three buyers in the market of Corn. At each price level, the quantity demanded is given.
Price per Quantity Demanded Market demand
Bushel Majed | Yousef | Sama
$5 10 12 8 10+12+8=30
4 20 23 17 20+23+17=60
3 35 39 26 35+39+26=100
2 55 60 39 55+ 60+ 39 =154
1 80 87 54 80 + 87 + 54 = 221
Example
For a market of 200 corn buyers, each with a demand as shown in the table below. What is the market demand
curve?
Price per Quantity
Bushel Demanded Market Demand = (Q¢ * # of buyers)
per Week
$5 10 10 * 200 = 2,000
4 20 20 * 200 = 4,000
3 35 35* 200 =7,000
2 55 55*200 = 11,000
1 80 80 * 200 = 16,000
Example

The table below shows the demand for wheat in a market where there are just three buyers.

1. Refer to the table. At a price of $4, what is the market demand for

wheat?

Market demand = demand for Buyer 1 + demand for Buyer 2 +
demand for Buyer 3

Market demand = 15 + 10 + 12 = 37 units

STUDERYTS-HUB.com

Buyer1 Buyer2 Buyer3

Price Qd1 Qd2 Qd3

$6 7 4 6
5 9 7 8
4 15 10 12
3 21 15 16
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Change in Quantity Demanded aslall 2.3 § pisdl

Is a movement from one point to another point on a fixed demand schedule or demand curve.
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Change in quantity demand is cause by increase or decrease in the price of the product.

Change in Quantity Demanded

a7 B
5 i Change in quantity demanded
B i (a movement along the curve)
=1 E
| - V2
o i '
| D,
0 i
100 200

Quantity demanded (per unit of time)

For example, an increase in the price of corn from $1 to $2 will decrease the quantity of corn demanded from 200 to
100 bushels. Movement from point A to point B on the demand curve represents a change in quantity demanded
(decrease in quantity demanded).

Change in Demand . i § sl
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A change in the demand schedule or, graphically, a shift in the demand curve is called a change in demand
P

$6

- If the consumer desires to buy more units at
each possible price, then demand increase.
Increase in demand is shown as a shift of the
demand curve to the right, say, from D1 to D..

/ Increase in demand

b
2 L]

- A decrease in demand occurs when
consumers buy fewer units at each possible
price. Decrease in demand is shown as a shift
of the demand curve to the leftward, say, from

L]
D1 to Ds. Decrease / D,

in demand D,

Price (per bushel)
)
[ -]

D,

0 2 4 6 8 10 12 14 16 18
Quantity demanded (thousands of bushels per week)
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 Change in Quantity  Change in Demand

demanded
— A shift in the curve
— Movement along the — Price remains constant
tlive — One of the underlying
— Result of a change in factors change
the price
— Other factors remain
constant

10 15 10 18

Example: Chose the correct answer
1. Refer to the diagram, which shows two demand curves for coffee, which of the following could explain a movement
from point B to point A?
A. Anincrease in quantity demanded
B. A decrease in quantity demanded $20.00
C. Anincrease in demand $17.50

D. A decrease in demand $15.00 - \
51250 ] oA C

2. Refer to the diagram, which shows two demand curves for § $10.00

coffee, which of the following could explain a movement from &  s750
; . P B D2

point A to point C7 $5.00 - =
A. An increase in quantity demanded $2.50 - D1
B. A decrease in quantity demanded 0 ; - ; - ; .
C. Anincrease in demand 10 20 30 40 50 60
D. A decrease in demand Quantity Demanded

3. Refer to the diagram, which shows two demand curves for coffee, which of the following could explain a movement
from point A to point B?
A. An increase in quantity demanded
B. A decrease in quantity demanded
C. Anincrease in demand
D. A decrease in demand

4. A barber (s-) raises the price of haircuts and finds that the volume of business declines. This indicates:

A. A decrease in demand
B. Anincrease in demand
C. Adecrease in quantity demanded
D. Anincrease in quantity demanded

5. The consumer was able to buy 10 cans of cola at a price of $1 in last week. In this week, it is able to buy 14 of
the same cans of cola at a price of $1. Evidently, the consumer has experienced a(n):
A. Increase in demand
B. Increase in supply
C. Decrease in demand
D. Increase in quantity demanded
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Determinants of demand (demand shifters) _ii cifsoss

o Consumer's Tastes (preferences) izl s

A favorable change in consumer tastes for a product makes the product more desirable; means that more of it
will be demanded at each price. Demand will increase (shift to the right).

An unfavorable change in consumer tastes for a product will decrease demand (shift to the left).

LSOl s Ll Lo Aalaay iy el sl LalSa Aiae Aala (o ] Lpllay 1 LSO spazes 3 TS Thon caly cllgad) 393 o zanlsll o
Lo Lellay 1 oSl s el Lo kg ety el U5 LalSy Aaledl clls o Lollsy (&)

¢ Number of Buyers ozl sue

An increase in the number of buyers in a market is likely to increase product demand — shift demand curve to
the right

A decrease in the number of buyers will lead to decrease demand — shift demand curve to the left

o Income clgzudl Jss
A. Normal goods (Superior goods)
Goods whose demand varies directly with money income are called normal goods or “superior goods".
Income increase  — demandincrease — shift demand curve to the right.
Income decrease  — demand decrease — shift demand curve to the left.

Examples for normal goods: Steak; Furniture; Clothing; car

B. Inferior goods s, aaluli

Goods whose demand varies inversely with money income are called inferior goods.
Income increase = —  demand decrease — shift demand curve to the left.
Income decrease  —  demand increase —  shift demand curve to the right.
Examples for inferior goods: Used Furniture, Used Clothing

Example: Chose the correct answer
1. If a good is inferior and income decreases then
A. The demand curve will shift to the right
B. The supply curve will shift to the right
C. The demand curve will shift to the left
D. The supply curve will shift to the left

2. Gasoline is a normal good. When consumer income increases, there will be
A. arightward shift in gasoline supply curve
B. A leftward shift in gasoline supply curve
C. Arightward shift in gasoline demand curve
D. A leftward shift in gasoline demand curve
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3. If used cars are inferior goods and incomes decline
A. Demand for new cars remain unchanged
B. Demand for used cars decline
C. Demand for new cars increase
D. Demand for used cars increase
4. Which of the following is most likely to be an inferior good?
A. Fur coats
B. Ocean cruises
C. Used clothing
D. Steak
5. Which of the following will cause the demand curve for product A to shift to the left?
A. Population growth that causes an expansion in the number of persons consuming A.
B. Anincrease in money income if A is a normal good.
C. Anincrease in money income if A is an inferior good.
D. A favorable change in consumer tastes for a product makes the product more desirable
o Prices of Related Goods

A. Substitutes good (x4..41 oLui) : IS one that can be used in place of another good.
) § 631 e Yoty LealasT pusig of cllaad) o8als o 13) ol opaledd) i
Examples: Coca-Cola and Pepsi; Colgate toothpaste and Crest; Nike and Reeboks; Chevrolets and Fords

When two products are substitutes, an increase in the price of one will increase the demand for the other.

For example, an increase in the price of Coca-Cola, consumers will buy less of it and increase their demand for
Pepsi. — Shift demand curve for Pepsi to the right.

B. Complements good (aLsti »i): IS one that is used together with another good?
Lo cnalad! cllpuy 416 Lias 2adie e cllgadl Juamy oy 2l Pzl Jo¥1 gl (81 13) Laguant olileSe Lagly lialudl Cayal
Examples: Car and Gasoline; Computers and Software; Camera and film; Cell phone and Cellular service

When two products are complements, an increase in the price of one will decrease the demand for the other.

For example, a decline in the price of cars, consumers will buy more of it and increase the demand for gasoline
— shift demand curve for gasoline to the right

C. Unrelated good (aasye 4ad! aludl)

Goods are not related to one another is called unrelated or independent.

Examples:_Butter and Golf balls; Potatoes and Automobiles; Bananas and Camera

If a change in the price of one has no effect on the demand for the other, then the two good are unrelated
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Example: Chose the correct answer

1.

Tennis rackets and ballpoint pens (st sl o) are:

A. substitute goods.

B. complementary goods.
C. inferior goods.

D. independent goods.

If the price of orange juice rises, the demand for grapefruit juice will
A. increase because the two goods are substitutes

B. increase because it is a complement

C. decrease because the two goods are substitutes

D. decrease because the two goods are complements

If the price of a complement decreases, all else equal,
A. Quantity demanded will decrease.

B. Demand will increase.

C. Demand will decrease.

D. Supply will increase.

If products A and B are complements and the price of B decreases the:

A. demand curves for both A and B will shift to the left.

B. amount of B purchased will increase, but the demand curve for A will not shift.
C. demand for A will increase and the quantity of B demanded will increase.

D. demand for A will decline and the demand for B will increase.

Assume chickens are normal goods and chickens and meat are substitutes, which of the following will cause the
demand curve for chickens to shift to the left.

A. Increase in consumers' incomes

B. Decrease in the price of chickens

C. Increase in the price of meat

D. Decrease in the price of meat

Which of the following events would increase a student's demand for Falafel?

An increase in the price of Falafel

A decrease in the price of Hamburgers (Falafel and Hamburgers are substitutes)

A decrease in the price of Coca-Cola (Falafel and Coca-Cola are complements)

An increase in student monthly allowance (s, <) that the student receives from his family (Falafel is an

inferior good).

oowy

A rightward shift in the demand curve for product C might be caused by:
A. Anincrease in income if C is an inferior good.

B. A decrease in income if C is a normal good.

C. Adecrease in the price of a product that is a close substitute for C.
D. A decrease in the price of a product that is complementary to C.

If the price of gasoline rises dramatically,

A. The quantity demanded for cars will decrease.

B. The demand for commuter train rides will decrease.

C. The demand for cars will decrease.

D. The quantity of commuter train rides demanded will increase.

Which of the following will increase the demand for large automobiles?

A. Afall in the price of small automobiles.

B. A decrease in insurance rates for large automobiles.

C. Afallin the price of large automobiles.

D. A decrease in buyers' incomes (assuming large automobiles to be a normal good).
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e Consumer Expectations sl yau § aiall sl cllgud| cladgs

Expectation of higher future prices may cause consumers to buy now in order to anticipated (_.xz) price rises
— increasing current demand (shift current demand to the right)

For example, inclement weather (... _.a.n) Creates an expectation of higher future prices of Tomato, this lead to
increasing today's demand for Tomato.

Example: Chose the correct answer
1. If buyers expect the price of a good to rise in the future, the result is
B. Anincrease in supply today
C. Adecrease in quantity demanded today
D. Anincrease in demand today
E. Anincrease in quantity demanded today

2. Which of the following would mostly likely increase the demand for gasoline?
A. The expectation by consumers that gasoline prices will be higher in the future.
B. The expectation by consumers that gasoline prices will be lower in the future.
C. A widespread shift in car ownership from SUVs to hybrid sedans.
D. A decrease in the price of public transportation.

Supply aaludl fe oyl

Is a schedule or curve showing the various amounts of a product that producers are willing and able to make
available for sale at each price level.

Aaladl ells 1) e 8,05 4855 pe L Bale (3o Luye Lz il il ity 2eS (adl ga (oyall

Law of Supply

Other thing equal: as price rises, the quantity supplied rises; as price fall, the quantity supplied falls.
PT — Qst
Pl - Qs|

There is a positive relationship between price and quantity supplied.

3]
5
Price per Quantity supplied .
Bushel per week g,
$5 60 2
4 50 £
3 35 g2
2 20
1 5 !

10 20 330 40 0 e 70 Q
Quantity Supplied (bushels perweek)

STUDER¥S-HUB.com Uploaded By: anonymous



The supply curve

e Individual supply curve s,ill il

The supply curve for an individual producer graphs as an up-sloping curve. Other thing equal, producers will offer
more of a product for sale as its price rises and less of the product for sale as its price falls.

Al ¥ dalgall slay po Baluadl slda yag il usl Jed (o b Ak (o 3z g,all 20801 (o 28Nl cng Cnzmiidl sl ooy

e Market Supply Gowdl o,

The market supply is the summation the quantities supplied by all consumers at each of the various possible

prices.

Lo dabio (10 2um9pall 2SI Gy A8Vall Byl (aye Gty il e (aye Jhesd Bgadl (ye Lol cnmtill usl Gaye (e g35all papall O 1S3
AL ayall 35,55l 638 Jalsadl (a8 ae Aaludl sda yaus gl 3 il ppen Jid 0r0

The table below shows the supply for wheat in a market where there are just three suppliers (firms).

Example
Firm 1 Firm2 Firm3
Price Qs Qs Qs
$3 7 4 6
4 9 7 8
5 15 10 12
6 21 15 16

1. Refer to the above table. At a price of $4, what is the market supply for wheat?

Market supply = Qs (firm1) + Qs (firm2) + Qs (firm3) = 9+ 7+ 8 = 24

2. Refer to the above table. At a price of $6, what is the market supply for wheat?

Market supply = Qs (firm1) + Qs (firm2) + Qs (firm3) =21 + 15+ 16 = 52

Example
For a market of 200 corn sellers, each with a quantity supply as shown in the table below. What is the market supply
schedule?
Price per Quantity Supplied per Market supply
Bushel Week

$5 60 60 * 200 = 12,000

4 50 50 * 200 = 10,000

3 35 35 * 200 = 7,000

2 20 20 * 200 = 4,000

1 5 5*200=1,000
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Change in Quantity Supplied syl 2SI G pisdl

Is a movement from one point to another point on a fixed supply schedule or supply curve. Change in quantity supply
is cause by a change in the price of the product.

M\NMMML&L,AMw|éMLm.M‘M&dP\MJ‘MQAJL&E‘@AJL&j)A_UW\éM

Fe

S
-]

Price {per bushel)
m

0 20 W 4 50 &0 T Q
Quantity Supplied (bushels perweek)

For example, an increase in the price of corn from $3 to $4, increase the quantity of corn supplied from 35,000 to
50,000. Movement from point A to B on the fixed supply curve.

Gomill e e Balasill Q1A Abatll e JEEY) gl . 50 I 35 (e Bus gyl 2uaSH 8L5 JI 352§ 4 1 $3 oo Taled! yas plasyl 1 le

Change in Supply i j s

A change in one or more of the determinants of supply causes a change in supply.
oA s geie e 3 dads (| (ase gt (e 2k (e ATl g pasall G adl

An increase in supply is shown as a rightward shift of the supply curve as from S1 to S2. A decrease in supply is
shown as a leftward shift of the supply curve as from S1 to S3.

3

Price {perbushel)

Increase in supply

10 20 30 40 S & T Q
Quantity Supplied (bushels perweek)
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Changes in Supply vs. Changes in
QUantity: Suppliea
Changein Supply Change in Quantity Supplied
Sy S,
S
A/ B/ D/
80 "—“""““‘-"W"""""""""‘.» ’\80 iR e e e )
e e s s a
2 ? | 2 ?
a | a Ryl  €# |
20 40 éo 40
Quantitv (computer aames) Quantitv (computer aames)

5303 1 5352 $ 80 I $40 (ye Aabuadl yaadl yae 5 Las) e conaadl @ JSA) L gmill s e 63 ) Aass J) A (o JUATIS GaT Lo 9yall AeSIl § pcdS
D bzl JI Cabasll o JLAs¥l oy Idag « 40 JI 20 (e dsgyall 24eSl

A 131020 As gpall 2S5, S0 s e $ 80 i ie Hludl § JSAI 3 alisen smin e (3] At ) Aads (e JLanY) Gad oyl 3 asd
Slgmin e Bakadl IS0 gomin e Adlaaidl oo JLan¥| gay 1448 40 I al5 (o2l 09 $ 80 wie dalud! yau

Example: Chose the correct answer
1. The supply curve shows the relationship between:
A. price and quantity supplied.
B. production costs and the amount demanded.
C. total business revenues and quantity supplied.
D. physical inputs of resources and the resulting units of output.

2. The "law of supply" states that, other things remaining the same, firms produce
A. more of a good the less it costs to produce it.
B. less of a good the more it costs to produce it.
C. more of a good the higher its price.
D. less of a good as the required resources become scarcer

3. Refer to the diagram. A decrease in supply is depicted by a: Sy
A. move from point x to point y.
B. move from point y to point x. X s
C. move from point Y to point z. o y z/ 2
D. move from point z to point y. é

4. Refer to the diagram. An increase in quantity supply is depicted by a:
move from point x to point y.
move from point y to point x.
move from point Y to point z.
move from point z to point y. 0 Quantity

cow>
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Determinants of Supply (Supply Shifters) o,sil §55sll Jalsall

1. Resource Prices axluyl 5lstl slad

- Higher resource prices raise production cost, this leads to decrease the profit. Reduction in profits reduces
the incentive for firms to supply output at each product price — shift supply curve to the left (upward).

Aalud) (e 2 g ally dmudl A4Sl (olasel J) crmitiely (955 1dag Z LY (alass) Loy z ¥l IS5 8L JI $3% Lol 3)lll slawl ¢ Las)|

- Lower resource prices reduce production cost and increase the profit. Raises profits raise the incentive for
firms to supply output at each product price — shift supply curve to the right.

O s 9yally Azl A4S 3l J) ol azda Tdag il #Ly) @ glas)) Jlus z ¥l G IS (slassl I 635 A ¥l 5)lell jlasl (olass)
Onedd oyl G A Aalud)

Example
A decrease in the price of microchips increases the supply of computers.

An increase in the price of textile, decrease the supply of furniture.
UYL e el palassl ) g5s Ghleal) jlanl § glasyl clIAS . 5suasIl e oyl 8L I 6380 35Sl 3 1) slad (olasil e

2. Technology

Improvement in technology enable firms to produce units of output with fewer resources = reduce production cost
— increase the supply (shift supply curve to the right)

¥ 3L Qs 7 ¥l CaiSs alasil J1 ga5s 1ay .81 palas 2ueS alimiuly Aaludl (o 2SIl (i z 1 (o ozl (,Sie5 Lz gJgiSall 3 a3
Al e s yall

For example, the development of more effective wireless technology increases the supply of cell phones.

3. Taxes and Subsidies sl peully calpall

An increase in sale or property taxes will increase production cost and reduce supply (shift supply curve to the
left)

s gpall cleaSl Julas Jilly 7 Loy CadlSs 3ol J1 605 Ealudl e (il ResSall oayd of cla ¥

If the government subsidizes the production of a good, it in effect lowers the production costs and increase
supply.
ST 08 (iyeg ST BeS z Ll e 3yuall Jlly z ¥l A IS (olasesl ) a5 23 oo ! el mes degSael i 13)

Examples
An increase in the excise tax cigarettes reduces the supply of cigarettes.

- A decline in subsidies to state universities reduce the supply of higher education
el e (o el (alassl J) gog lasleld puall ogSed) peddl (olass)
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4. Prices of Other Goods zluy! § abud! abudl slawi

ai Of £l Ok of Com Z Yl 3 ol Olpiay , paddly meddld A LYl slod) udiy Loz lis) oSy oliabas Lol z ¥l @ olaliad) Glialedd] Céyas
o s gyl ol o éi il lus (de g andll Ael ) gomi pdivw &L L8 addl 2w Slajl 1308 L Sdiey G aloll s alusruls Loge L_;i
Firms that produce a particular product, say, soccer balls, can sometimes use their plant and equipment to

produce alternative goods, say, basketballs and volleyballs since soccer balls and basketballs are substitutes
in production.

The higher prices of these "other goods" may entice soccer ball producers to switch production to those other
goods in order to increase profits. This substitution in production results in a decline in the supply of soccer balls.

Example: An increase in the price of cucumbers decrease the supply of watermelons.

izl fdad) (e Ao gyall SlaSdl of G abd] Glus e cUdg Ll dely) g bt gL Lo Ll pa slsl 13

5. Producer Expectations about the future price —.u,all Sl § aaludl pau pcity cazmid! Jid oo Siladys

Farmers anticipating a higher wheat price in the future might withhold some of their current wheat harvest from
the market, thereby causes a decrease in the current supply of wheat.

Locie coydll Jdnudl § L ol oo oiflmad) e 4eSd) commmy il (6382 132 copdll Jidnadl @ slajew medd) yaw Ol meddl (rmiie a8g5 13
Ll 1 oyl e 2oyl i Jldl sl 3 Bl e (mpall ol 1ia aas el Laya G5

6. Number of Sellers 3ol § 2cldl sue

Other things equal, the larger the number of suppliers, the greater the market supply. As more firms enter an
industry, the supply curve shifts to the right.

el J1 payadl Gt ol Aabidl e (ol 8oy Sl Amnl) 2eSIl 3 8oL 1 go% Aakis Bgan § cammill sue B3l

Example: Chose the correct answer
1. If an excise tax is imposed on a good or service,
A. the supply curve shifts upward
B. the supply curve shifts downward
C. the price paid by consumers decreases
D. the quantity produced and sold increases

2. Supply curves do not shift if there is a change in the
A. Number of sellers of the good.
B. Technology used to produce the good.
C. Price of the good.
D. Price of resources used to produce the good.

3. All of the following shift the supply of watches to the right except(sLiiul)
an increase in the price of watches

an advance in the technology used to manufacture watches

a decrease in the wage of workers employed to manufacture watches
manufactures’ expectation of lower watch prices in the future

oowp
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4. What will happen in the rice market if sellers are expecting higher prices in the near future?
A. The demand for rice will increase.
B. The demand for rice will decrease.
C. The supply for rice will decrease.
D. The supply of rice will increase

5. Wheat is the main input in the production of flour. If the price of wheat increases, all else equal, we would
expect
A. The supply of flour to be unaffected.
B. The supply of flour to decrease.
C. The supply of flour to increase.
D. The demand for flour to decrease.

6. If good Y is a substitute in production for X then an increase in the price of Y will:
A. Cause an increase in the supply for X.
B. Cause a decrease in the supply for X.
C. Cause anincrease in the supply for Y.
D. Cause a decrease in the demand for Y.

7. Which one of the following would cause the supply of bananas to /ncrease?
A. A technological advance which lowers the cost of banana production.
B. A decrease in the number of producers of bananas.
C. Anincrease in the price of a fertilizer used in growing bananas.
D. A severe rain shortage (which causes banana trees to die off).

8. Which would cause a rightward shift in the supply curve for telephone service?
A. A decrease in the wages of telephone workers
B. Anincrease in the price of telephones
C. Anincrease in the taxes paid by telephone companies
D. A decrease in a subsidy given to telephone companies

Market Equilibrium 5o o363

Equilibrium Price and Quantity /501 &Sy ¢33l9d! yaw

The equilibrium price (market clearing price) is the price where quantity demanded equals quantity supplied.

At equilibrium price: Qd = Qs

Graphically, the equilibrium price is indicated by the intersection (&) of the supply curve and the demand curve.

Price

Supply

———————————————————— — Equilibrium

Demand

Quantiity
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At equilibrium price, there is neither a shortage nor a surplus.

When Qp > Qs

When Qs > Qp — surplus (excess supply) : Surplus = Qs - Qp

— shortage (excess demand):

- The surpluses caused by above equilibrium price

Agllall 2SI e ST 2 gyall BaS 0 T B9l 3 Aadeadl (o (38 A i oty I3 (L8 O30 yas (g0 (el yadl OIS 13)

- The shortage caused by below equilibrium price

&b gpall 4aSI e ST Aglall 200831 o1 (6T Boaedl @ 2alidl (o (ads Wi oty U3 18 315! yau (o JBT yadl () 13)

Example

Based on the following table which represents the supply and demand schedule answer the following questions

Shortage = Qs - Qp

Price per Total Quantity Total Quantity Surplus (+) or | The effect on
Bushel Supplied Demanded Shortage (-) price
$5 12,000 2,000
$4 10,000 4,000
$3 7,000 7,000
$2 4,000 11,000
$1 1,000 16,000

1. Complete the table

Price per Total Quantity Total Quantity Surplus (+) or | The effect on
Bushel Supplied Demanded Shortage (-) price
(Qs-Qq)
$5 12,000 2,000 + 10,000 Decrease
$4 10,000 4,000 + 6,000 Decrease
$3 7,000 7,000 0 no effect
$2 4,000 11,000 - 7,000 Increase
$1 1,000 16,000 - 15,000 Increase

2. What is the equilibrium price? What is the equilibrium quantity?

The equilibrium price equals $3, when Qq = Qs

The equilibrium quantity equal 7000 bushels of corn.

3. At market price of $4, calculate the excess supply

Excess Supply = Qs - Qq= 10,000 - 4,000 = 6,000
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Example

Based on the following table which represents the supply and demand Price dgrl:lzr:lﬂltgd Suupapr;itietél
schedule for one seller of meat 570 305 2600
A. Suppose that there are 100 sellers and 100 buyers of meat in this $22 375 250
market. What is the equilibrium price and quantity of meat in this $24 350 290
market? $26 320 320
$28 280 345
Market demand = number of buyers * Quantity demanded for one buyer.
Market supply = number of sellers * Quantity supplied for one seller. Price Market Market
demand supply
At equilibrium price: Qd = Qs: equilibrium price = $26 equilibrium $20 39,500 20,000
quantity = 32,000 $22 37,500 25,000
$24 35,000 29,000
$26 32,000 32,000
$28 28,000 34,500

B. When government sets the price of a meat at $28, will there be a shortage or surplus? By what amount?

At $28 of price: Qs = 34,500,
units (34,500 - 28,000

Example

Qd=28,000 - Qs>Qd — surplus of the meat by the amount of 6,500

Consider the following market demand and supply curves for Cheese. 60

Quantities are in tons and prices in dollars. 2(5)

Price

45

What is the equilibrium price and quantity of Cheese in this market?

55
The equilibrium price is indicated by the intersection of the supply 3;

curve and the demand curve. 25

20

Equilibrium price: $35 15
10

Equilibrium quantity: 250 tons

0 100

Example: Choose the correct answer
1. There is a shortage in a market for a product when:
A. The current price is higher than the equilibrium price
B. Supply is less than demand
C. Quantity demanded is less than quantity supplied
D. Quantity demanded is greater than quantity supplied

2. There is a surplus in a market for a product when:
A. The price is set above the equilibrium level
B. Competition is driving the price higher
C. Supply is more than demand
D. Quantity demanded is more than quantity supplied

3. If the market price is above the equilibrium price:
A. A shortage will occur and producers will produce more and lower prices
B. A surplus will occur and producers will produce less and lower prices
C. A surplus will result and consumers will bid prices up
D. Producers will make extremely high profits

200 300 400

500 600 700

Quantity (tons)
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Example: Use the following to answer questions:

s
1. What is the equilibrium price and quantity? $2.00
At equilibrium: demand curve intersects the supply curve E
©
P=$15 Q=28 > $1.50
2
2. AtP=$2, is there a shortage or surplus? What is the 9
amount of shortage or surplus? = $1.00 D
AtP=$2:QD=20 Qs=30
Qs>QD — surplus ] 20 27 28 30 35

Millions of Gallons of Milk Per Week
Amount of surplus =Qs - Qd =30 - 20=10

3. At P=$1, is there a shortage or surplus? What is the amount of shortage or surplus? Is price increase or
decrease?

AtP=$1: QD =35 Qs = 27
QD > QS — shortage
Amount of shortage = Qs - Qd=35-27=38

Shortage: price will tend to rise

Application: Government Set Prices sl § dosSxl (55

89 -09ediw cudll o el ol Laasie 03l yas o 13]5, aadl glas| oo padally Gl cnSlaadl oo laasye cilstll aue o 1318 Tadse 050
sl G5 Dl 3 onmid] Llemd ol yaudl g las)l Al § oSlaad] Zolasd Sase (iyaT9 2 oSl 5015 16 canllnd] ells

Price Ceilings: s sl il

A price ceiling sets the maximum legal price a seller may charge for a product or services. A price at or below the
ceiling is legal; a price above it is not.

el Ll gl cazadl o J8T 2 Gt i Aaludl G5LaTs £l O Sy SIS Aaludl 4y (GAGTs 5L O ey Gl yame el s (Graadl izl
A price ceiling is a maximum legal price such as Pc. When the ceiling price is below the equilibrium price, a persistent

product shortage result. Here that shortage is shown by the s
horizontal distance between Qq and Qs. P

3929 i Lea Agllall AeaSTl oo J8T 2o gyall 2aST1 0985 Gy Cadun 458 Amils

e U3 STy, adl g lasy) A e Jo gl ZagSall o @l Al dl clls Ggus e

oo palsill ol Bue ads o 2esSall (Slasg . Goudl @ oo G jmall A dis Sl _Ceiling

Aaladl (o AL CupaS oty RagSnll 35 o cadlalll s (n o9 e sall 2 33 —_

S small 552 (635 i Uy HasSiall 05 () 135 - yad) i) cpo oLl small el Shortpge
wlog Bow psile I Graw adiu (28 e

$35 Py

D
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Price Floors: @ aud! s 8l

A price floor is a minimum price fixed by the government. A price at or above the price floor is legal; a price below it
is not.
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A price floor is a minimum legal price such as P£ When the price floor is above the equilibrium price, a persistent
product surplus result. Here that surplus is shown by the horizontal distance between Qs and Qq.

p 5
Surplus
e
$1 P, ~ Floor
1P,
/| D
0 Qa' Ql: Q; Q

Suppose the equilibrium price for wheat is $2 per bushel and, because of that low price, many farmers have
extremely low incomes. The government decides to help out by establishing a legal price floor or price support of $3
per bushel. What will be the effects? At any price above the equilibrium price, quantity supplied will exceed quantity
demanded—that is, there will be a persistent excess supply or surplus of the product. Farmers will be willing to
produce and offer for sale more than private buyers are willing to purchase at the price floor.

Example
The table below shows the demand and supply schedule in the market for shoes. Answer the questions that follow.
. N i . Price Quantity Quantity
1. What is the equilibrium price and quantity? Demanded Supplied
I o $40 1,750 4,000
Equilibrium price = $25 $35 2.000 3.500
Equilibrium quantity = 2,500 $30 2,250 3,000
$25 2,500 2,500
$20 2,750 2,000

2. Suppose that the government set a price for shoes at $20.
A. What is this price control called? (Price floor or price ceiling)?

$20 is the price less than the market price — Price ceiling

B. At this price is there a shortage or surplus? Why?
At P=$20: QD =2,750 QS =2,000 -~ QD > QS — shortage
C. What is the amount of shortage or surplus?

Surplus =Qs - Qd =2,750 - 2,000 = 750
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Example $14
Consider the following market demand and supply curves for Cheese.

Quantities are in tons and prices in dollars.

10 Supply

Suppose that government imposed a price floor of $8, would there be a § 8
shortage or a surplus at this price? Why? How much is the size of this shortage & 6

or surplus? 4
2
Surplus because Qs > Qd Demand
0 10 20 30 40 50 60
Surplus =Qs-Qd =30-10 =20 tons Quantity

Change in Supply, Demand, and Equilibrium

¢ Changes in Demand

Increase in Demand

Increase in demand: shift demand curve to the right — increase both equilibrium price and quantity
Increase in Demand

Price: Increase from Py to P>

Quantity: Increase from Q1 to Q2

Decrease in Demand

Decrease in demand: shift demand curve to the left — decrease both equilibrium price and quantity

$ Decrease in Demand

Price: Decrease from P to P>

Quantity: Decrease from Q1 to Q2
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e Changes in Supply

Increase in Supply
Increase in supply: shift supply curve to the right — decrease the

equilibrium price and, increase the equilibrium quantity (P| ; O1) $ Increase in Supply

Price: Decrease from Py to P>

Quantity: Increase from Q1 to Q2

Decrease in Supply

Decrease in supply: shift supply curve to the left — decrease the equilibrium price and, increase the equilibrium
quantity (P1 ;QJ)

Decrease in Supply s

Price: Increase from P1 to P>

Quantity: Decrease from Q1 to Q2 P -—-

e Supply Increase; Demand Decrease Q

e —— e ——

Increase in supply: shift supply curve to the right

Decrease in demand: shift demand curve to the left

P
51 P P
s1
N 52 o
&
l 'd

7 ¥ N\p1 1 l

D1

D2 D2
0 0 P— 0

Price: Decrease from P to P>
Quantity: Uncertain (uasill adaiul ¥)
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Effects of changes in both supply and demand on equilibrium price and guantity:

Change in Change in Demand Effect on Effect on Equilibrium
Supply Equilibrium Price Quantity
Increase Decrease Decrease Uncertain
Decrease Increase Increase Uncertain
Increase Increase Uncertain Increase

(Indeterminate)
Decrease Decrease Uncertain Decrease
Example

Suppose that cheese is a normal goods, cheese and bread are complements, and milk is used to produce cheese.
For each of the following cases, show what happens to demand, supply, equilibrium price, and equilibrium quantity
of cheese.

A. Price of milk increases.

Milk is used to produce cheese (resources of milk production). Increase in milk prices raise production cost, this
leads to decrease the profit. Reduction in profits reduces the incentive for firms to supply output at each product
price — shift supply curve to the left (decrease).

Decrease in Supply s

Demand curve for cheese: No change
Equilibrium price: Increase P

Equilibrium quantity: Decrease

B. National income decreases and, at the same time, the number of sellers of local cheese has increased.

P
National income decrease: cheese is a normal goods — decrease
income leads to decrease demand

The number of sellers of local cheese has increased — increased supply ~ **

Price: decrease

2

Quantity: uncertain

a1 Q

C. The government gives a subsidy to the producers of bread.

Subsidy to the producers of bread leads to increase the supply of bread — decrease the price of bread, but
cheese and bread are complements — increase the demand for cheese. . Increase in Demand

Supply curve for cheese: No change

Price: increase : :T__“___

Quantity: increase

Dy

—>
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Example
Tea and coffee are substitutes and both tea and coffee are normal goods. Explain what happen to demand, supply,

equilibrium price, equilibrium quantity of tea due to the following events.
A. Government increase sales taxes on tea.

Increase sales taxes — decrease supply of tea

The demand for tea: no change.

The price of tea: increase

The quantity of tea: decrease

B. Price of coffee decrease considerably (s ).

Tea and coffee are substitutes — Price of coffee decrease leads to increase demand for coffee and decrease
demand for tea.

3 Decrease in Demand
The supply of tea: no change
The price of tea: decrease

The quantity of tea: decrease P

C. Consumers' income decreases and, at the same time, the cost of producing and transporting tea has also
decreased.

Tea is a normal good =Consumers' income decreases leads to decrease the demand for tea
The cost of producing and transporting tea has decreased. = supply of tea increase
The price of tea: decrease

The quantity of tea: uncertain

P1

P2

a1 Q
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Example

The table below shows the demand and supply schedule in the market for shoes. Answer the questions that follow.

Price Quantity Quantity
Demanded Supplied
$40 1,750 4,000
$35 2,000 3,500
$30 2,250 3,000
$25 2,500 2,500
$20 2,750 2,000

A. What is the equilibrium price and quantity?

Equilibrium price = $25

Equilibrium quantity = 2,500

B. Suppose that consumer income increase that leads to increase demand by 750 units at each price level, what
is the new equilibrium price and quantity?

Equilibrium price = $30

Price Quantity Quantity New Quantity
Demanded Supplied Demanded

$40 1,750 4,000 1750 + 750 = 2,500

$35 2,000 3,500 2,000 + 750 = 2,750

$30 2,250 3,000 2,250 + 750 = 3,000

$25 2,500 2,500 2,500 + 750 = 3,250

$20 2,750 2,000 2,750 + 750 = 3,500

Equilibrium quantity = 3,000

The table below shows the demand and supply schedule in the market for milk. Answer the questions that follow.

Example

Price Quantity Quantity
demanded | supplied

$2 400 240

$3 380 300

$4 360 360

$5 340 420

$6 320 480

A. What is the equilibrium price and quantity?

Equilibrium price = $4

Equilibrium quantity = 360
STUDER¥S-HUB.com
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B. Suppose that production cost of produce milk increase that leads to decrease supply by 160 units at each price

level, what is the new equilibrium price and quantity?

Price Quantity New Quantity
demanded supplied
$2 400 240-160 = 80
$3 380 300 - 160 = 140
$4 360 360 - 160 = 200
$5 340 420 - 160 = 260
$6 320 480 - 160 = 320

New Equilibrium price = $6

New Equilibrium quantity = 320

Example
Consider the following market demand and supply curves for

Cheese. Quantities are in tons and prices in dollars.

A. What is the equilibrium price and quantity of Cheese in this
market?

Equilibrium price: $35

Equilibrium quantity: 250 tons

Price

60
55
50
45
40
35
30
25

20

15
10

0

0 100 200 300 400 500 600 700
Quantity (tons)

B. Suppose the government purchased 300 tons of cheese at each price level (demand increase by 300 tons), what

is the equilibrium price and quantity after this purchase?

Demand increase by 300 tons, means that the at each price
quantity demand increase by 300 tons

Price Qq Qd'(new demand) Qs
25 350 350 + 300 = 650 50
30 300 300 + 300 = 600 150
35 250 250 + 300 = 550 250
40 200 200 + 300 = 500 350
45 150 150 + 300 = 450 450
50 100 100 + 300 = 400 550

New equilibrium price: $45

New equilibrium quantity: 450 tons

STUDER¥S-HUB.com

Price

60
55
50
45
40
35
30
25
20
15
10

0 100 200 300 400 500 600 700
Quantity (tons)
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CHAPTER 6

Elasticity
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Econ 131 Chapter 6: Elasticity T rge

Price Elasticity of Demand a,aul cllall &550

The law of demand tells us that, other things equal, consumers will buy more of a product when its price declines
and less when its price increases. But how much more or less will they buy? The amount varies from product to

product and over different price ranges for the same product. It also may vary over time. And such variations
matter.

Gl Al 5 e (STg . yad! iy Lo 819 yad! (adsey Loaie Zaludl oo 3kl 0sShaad) il « 6,391 Jalsall ol pa o 4l clall (9318 Ly
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Elasticity: is a measure of the percentage change in one variable brought about by a 1 percent change in some
other variable.

Price Elasticity of Demand.is the percentage change in the quantity demanded of a good in response to a 1
percent change in its price.

UL aly By Aaladl yaie i) 2ol Lo Bali (o Bosllall 2SI Bylatal st Byad| Ll Bigy0 s

The responsiveness (or sensitivity) of consumers to a price change is measured by a product's price
elasticity of demand. For some products for example, restaurant meals consumers are highly responsive to
price changes. Modest price changes cause very large changes in the quantity purchased. Economists say
that the demand for such products is elastic. For other products—for example, toothpaste— consumers pay much
less attention to price changes. Substantial price changes cause only small changes in the amount purchased.
The demand for such products is inelastic.
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Example: Choose the correct answer

1. The basic formula for the price elasticity of demand coefficient is:
A. absolute decline in quantity demanded/absolute increase in price.
B. percentage change in quantity demanded/percentage change in price.
C. percentage change in price/percentage change in quantity demanded.
D. change in quantity demanded/ change in price.

2. |If the elasticity of demand is —3, this means that if __
A. The price rises by one dollar, the quantity demanded will fall by two dollars.
B. The price rises by two-dollar, quantity demanded will fall by one dollar.
C. The price rises by 1 percent, the quantity demanded will rise by 3 percent.
D. The pricerises by 1 percent, the quantity demanded will fall by 3 percent.

3. If the elasticity of demand is —, this means that if __
A. The price rises by one dollar, the quantity demanded will fall by two dollars.
B. The price rises by two-dollar, quantity demanded will fall by one dollar.
C. The price rises by one percent, the quantity demanded will rise by two percent.
D. The pricerises by two percent, the quantity demanded will fall by one percent.
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The Price-Elasticity Coefficient and Formula

Economists measure the degree to which demand is price elastic or inelastic with the coefficient E,, defined as:

_ Percentage change in quantity demanded of product X _ %AQ _AQ | AP

Ed =
percentage change in price of product X %AP Q1 Py
- P, —P - P
Eq = Q2 — Q1 . b 1 - -0 " 1
Q1 Py Q1 P; =P
Example:

You are given market data that says when the price of pizzais $4, the quantity demanded of pizza is 60 slices.
When the price of pizzais $2, the quantity demanded of pizza is 80 slices. Calculate the price elasticity of demand

- P 80 — 60 4 20 4 80
Q=01 1 " =29, _ = 067
Q1 P, — Py 60 2-4 60 -2 —120

Eq=

Midpointformula for calculating elasticity:

E Change in quantity demanded  change inprice
d= -
Sum of quantity /2 Sum of price/2
Q2-Q1 . P2-P1 Q2-Q1 . P2-P1
d = - = -
Q2+ Q1 /2 P2+P1/2 02+ Q1 P2+4P1
. Q2-0Q1 . P2 +P1
02+ 01 P2—-P1
Example

Use the midpoint formula for Eq to calculate the following

Product Quantity
price demanded
$5 10
$4 20
$3 35
$2 55
$1 80

1. Calculate price elasticity of demand for the price decrease from $4 to $3.

Q2-Q1 P2+P1 35— 20 3+4 15 7 105
d= k = *k = —x —=——=-19
Q2+ Q1 P2—- P1 35+ 20 3—4 55 -1 -55

2. Calculate price elasticity of demand for the price increase from $1 to $2.

Q2- Q1 P2+P1 55-80 2+1 -25 3 -75
* = * = * —= —— =-0.55
Q2+ Q1 P2-P1 55+ 80 2-1 135 1 135

Eq=
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Example
Suppose that the price elasticity of demand for maple syrup has been estimated at - 2. If quantity demanded
increased by 10 percent, by how must price have changed?

10% 10%
—2= — - %AP= — =-5%
% AP -2

Price must be decrease by %5

Example:
Suppose that the demand for DVD increases by 40%, when price decreases from $100 to $90. Calculate the

price elasticity of demand (Use the midpoint method for your calculation)

_ %AQ
7 %AP

P2-P1 90 —100 -10
%AP = = = =-0.105 =-10.5%
(P2+P1)/2 (90+100)/2 95

%A 40%
g= 229 ~ — _38
%AP -10.5%

Elimination of Minus Sign

The price elasticity coefficient of demand Eq will always be a negative number, because the price and quantity
demanded are inversely related.

We will use the absolute value of the elasticity coefficient. (aallall 4!l ds) @ 416 L 9,0) dad olus tic

Interpretations of price elasticity of demand

We caninterpret the coefficient of the price elasticity of demand as follows:

ElasticDemand ;. b

Demand is elastic if a percentage change in price results in a larger percentage change in quantity demanded
(%A Q> %AP). Then Eq will be greater than 1.

Inelastic Demand (0 A& b

Demand is inelastic if a specific percentage change in price produces a smaller percentage change in quantity
demanded (%AP > %AQ), demand is inelastic. Then Eq will be less than 1.

Unit Elasticity s, golal cdbs

Demand is unit elastic when the percentage change in price results in a same percentage change in quantity
demanded (%AP = %AQ), demand is unit elastic. Then Eq will be equal to 1.

ifEq > 1 = demand elastic
if E4 <1 = demand inelastic
if E4 =1 = demand unit elastic
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Example
Taleen spend all income on water and milk. When milk price $3 per gallon, Taleen bought 14 gallons of milk.

After the price of milk went up to $6 per gallon, Taleen bought only 6 gallons of milk. Calculate Taleen’s midpoint-
price elasticity of milk when the price of milk increases from $3 to $6 per gallon. Is demand for milk elastic,
inelastic or unit elastic?

Q2- Q1 P2+P1 6— 14 6+3 -8 9 4
¥ - % =% 2= = o-12/=12
Q2+ Q1 P2—-P1 6+ 14 6-3 20 3 20

Ed =

Es=1.2>1 — Demand elastic

Example: Choose the correct answer
1. When the percentage change in quantity demand is less than the percentage change in the price, then
A. Demand elastic
B. Demand inelastic
C. Supply inelastic
D. Demand unit elastic

2. the price of sprite cola rises by 25 percent, causing the quantity demanded to increase by 75 percent, then
demand for sprite cola is
A. Elastic
B. Inelastic
C. Unitary elastic
D. Perfectly elastic

3. Ifdemand is unitary elastic and price decreases by 30 percent, then we can expect quantity demanded to
A. Increase by 30 percent
B. increase by 60 percent
C. decrease by 30 percent
D. decrease by 30 percent

4. If the price elasticity of demand is —0.85, then demand is
A. Elastic
B. Inelastic
C. Unit elastic
D. Perfectly elastic

5. If the demand for product X is inelastic, a 4 percent increase in the price of X will:
A. decrease the quantity of X demanded by more than 4 percent.
B. decrease the quantity of X demanded by less than 4 percent.
C. increase the quantity of X demanded by more than 4 percent.
D. increase the quantity of X demanded by less than 4 percent.

6. Which one of the following illustrates an inelastic demand?
A. A 10 percentrise in price leads to a 5 percent decrease in quantity demanded.
B. A 10 percent rise in price leads to a 20 percent decrease in quantity demanded.
C. A price elasticity of demand equal to infinity.
D. A price elasticity of demand equal to 2.

7. When the price of bubble gum is $0.55, the quantity demanded is 400 packs per day. When the price falls to
$0.45, the quantity demanded increases to 600. Given this information, and using the midpoint method, what
do you know about the demand for bubble gum?

A. ltis inelastic.

B. ltis elastic.

C. ltis unit elastic.

D. ltis perfectly elastic
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Perfectly inelastic and perfectly elastic demand curve Perfectly Elastic

Demand Curve
When we say demand is “elastic,” we do not mean that consumers are completely for Soybeans
responsive to a price change. In that extreme situation, where a small price
reduction causes buyer to increase their purchases from zero to all they can
obtain, the elasticity coefficient is infinite (o) and economists say demand is
perfectly elastic. A line parallel to the horizontal axis.

1.60 D,

IfEs =0 — demandis perfectly elastic

Price ($ per tonnes)

A horizontal demand curve (line parallel to the horizontal axis), shows perfectly 0 QuantityDemanded
elastic demand graphically. (tonnes)

When we say demand is “inelastic,” we do not mean that consumers are completely Perfectly Inelastic
unresponsive to a price change. In that extreme situation, where a price change Demand Curve
results in no change whatsoever in the quantity demanded, economists say that for Insulin
demand is perfectly inelastic. The price-elasticity coefficient is zero because there
iS no response to a change in price. Approximate examples include an acute
diabetic’s demand for insulin (;Jsus¥l).

Lallao jaudl § paal) 2SI comind ¥ s Lagae cllall gomie (3550 boaie o)l e el 2o ls A> cllia
(perfectly inelastic ) & 9,1l mue ALl (g ALl sda @ [[F9N Ayaud) &gl dad (5SS

Price ($ per tonnes)

IfEs =0 = demand is perfectly inelastic
0 1000

A vertical demand curve shows perfectly inelastic demand graphically. Quantity Demanded

Example: Choose the correct answer
1. A perfectly inelastic demand schedule:
A. rises upward and to the right, but has a constant slope.
B. can berepresented by a line parallel to the vertical axis.
C. cannot be shown on a two-dimensional graph.
D. can be represented by a line parallel to the horizontal axis.

2. A perfectly elastic demand schedule:
A. rises upward and to the right, but has a constant slope.
B. can be represented by a line parallel to the vertical axis.
C. cannot be shown on a two-dimensional graph.
D. can berepresented by a line parallel to the horizontal axis

3. Refer to Figure. The demand for tickets is A

perfectly elastic. D
perfectly inelastic.
unit price elastic.
inelastic.

oo
Price

Number of tickets

ov
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The Total-Revenue Test I o1, ,Las

Total revenue (TR) is the total amount the seller receives from the sale of a product in a particular time period;
it is calculated by multiplying the product price (P) by the quantity sold (Q). In equation form:

TR = PxQ P

Graphically, total revenue is represented by the P x Q rectangle lying below a
point on a demand curve. At point a in Figure, for example, price is $2 and 27
quantity demanded is 10 units. So total revenue is $20 ($2 x 10), shown by the
rectangle composed of the gold and orange areas under the demand curve. / -
=
10 Q

N

Elastic Demand

If demand is elastic, a decrease in price will increase total revenue. Or if demand is elastic, an increase in price
will decrease total revenue. Even though a lesser price is received per unit, enough additional units are sold to
more than make up for the lower price.

Pl - TR1T
or Demand elastic
PT - TR
For Example:
Price (P) | Quantity (Q) Total revenue (TR)
$2 10 2x10=20
$1 40 1x40 =40

Price decline from $2 to $1 and total revenue increases from $20 to $40. So, demand is elastic.

Inelastic Demand

If demand is inelastic, a price decrease will reduce total revenue or a price increase will increase total revenue

Pl - TR
or Demand inelastic
PT - TR1T
For Example:
Price (P) | Quantity (Q) Total revenue (TR)
$4 10 4x10 =40
$1.5 20 1.5x20=30

Price declines from $4 to $1, and total revenue falls from $40 to $22. So, demand inelastic.
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Unit Elasticity

An increase or a decrease in price leaves total revenue unchanged.

The loss in revenue from a lower unit price is exactly offset by the gain in revenue from the accompanying

increase in sales.

Pt or P] — TRunchanged

— demand is unit elastic

For Example:
Price (P) | Quantity (Q) Total revenue (TR)
$3 3x10=30
$1 1x30=30

Price declines from $3 to $1 and total revenue still 30 (unchanged). So, demand unit elastic.

Example:
The following is a straight-line demand curve that confronts a single firm.
Quantity
Price  demanded (3) 4)
$15 50
$12.5 100
$10 150
$7.5 200
$5 250
$2.5 300

In column 3 (el 550l 3), COMpuUte () total revenue. In column 4, Indicate whether (o 131 s.>) demand is
elastic, inelastic, or unitary between each set of prices based on the total revenue test ( i1 s,y las) e Telo).

Quantity
Price demanded 3) (4)
$15 50 _750___
___Elastic___
$12.5 100 _1,250__
____Elastic ___
$10 150 _1,500__
__Unit Elastic __
$7.5 200 _1,500__
___Inelastic _____
$5 250 1,250
___Inelastic _____
$2.5 300 750
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Example: Choose the correct answer
1. The price of canned salmon increases; total revenue from canned salmon remains unchanged. Canned
salmon has a(n) __ demand.
A. perfectly inelastic
B. perfectly elastic
C. unitarily elastic
D. inelastic

2. Total revenue will decrease if price and demand is
A. increases; inelastic
B. increases; unitarily elastic
C. decreases; inelastic
D. decreases; elastic

3. An excellent harvest causes apple to fall in price by 10%. Consumers buy 5% more apples. The price
decrease has caused consumers to
A. Spendless onapples.
B. Spend more on apples.
C. Reduce the quantity of apples bought. We can't tell what has happened to spending.
D. Increase the quantity of apples bought. We can't tell what has happened to spending.

4. Otherthings the same, if a price change causes total revenue to change in the opposite direction, demand is:
A. Perfectly inelastic.
B. Relatively elastic.
C. Relatively inelastic.
D. Ofunit elasticity.

5. Demandis said to be inelastic when:
A. Anincrease in price results in a reduction in total revenue
B. Anincreasein price results in no change in total revenue
C. Areductionin price results in a decrease intotal revenue
D. The elasticity coefficient is more than one

Price Elasticity along a Linear Demand Curve

Using the total revenue test, when price fall and TR increases, demand is elastic; when price fall and TR
unchanged, demand is unit elastic; and when price fall and TR decline, demand is inelastic.

Price Elasticity of Demand for Movie Tickets as Measured by the Elasticity Coefficient and the Total-Revenue Test

Total Quantity of . %8 Elastic
Tickets Demanded Elasticity Total Revenue, | Total-Revenue a Ey> |
Price perTicket | Coefficient (Ej) (1) = (2) Test 7 I:'
| $8 $ 800D i P Unit
2 71 jgg 14,000} E:a“_'c c elastic
3 6] e 18,000 EI“"_‘ g 5 o=
4 5] : 20,000 e g
———F—— 100 — Unit elastic 4
g 4 20,000 i = Inelastic
— 0.64 — Inelastic 3
& 3 18,000 i E;<1
—F——n038 ——— Inelastic f
7 2 14.000 .
— 0.20 — Inelastic 2 .
8 [ 8000 g
|
" \Dp
0 | 2 3 4 5 & 7 8

Quantity demanded (thousands)

For a down sloping straight line, demand is more elastic at higher price range and inelastic at lower price ranges.
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Example: Choose the correct answer
1. Along a linear demand curve, from top to bottom (higher price levels to lower price levels), elasticity varies
from
A. elastic, to unit elastic, to inelastic
B. inelastic, to unit elastic, to elastic
C. unit elastic, to elastic, to inelastic
D. elastic, to inelastic, to unit elastic

2. Which of the following is true?
A. Ona linear demand curve, elasticity is constant
B. On alineardemand curve, the higher the price the more elasticis demand
C. Atthe same price demand is more elastic on the steeper demand curve
D. None are true

3. For alinear demand curve:

elasticity is constant along the curve.
elasticity is unity at every point on the curve.
demand is elastic at low prices.

demandis elastic at high prices.

oW

Price Elasticity and the Total-Revenue Curve

When price falls and TR increases, demand is elastic; when price falls and TR is unchanged, demand is unit
elastic; and when price falls and TR declines, demand is inelastic.

Elastic

Price

Inelastic

0o I 2 3 4 S &6 7 8
Quantity demanded (thousands)

Total revenue (thousands of dollars)

| 22 3 4 5 & %8 9
Quantity demanded (thousands)

Total revenue curve TR, which first slopes upward, then reaches a maximum, and finally turns downward. Tr
reaches a maximum at unit elastic range of the demand curve
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D eterminants of Price Elasticity of Demand:

e Substitutability sl 5l e

The larger the number of substitute goods that are available, the grater the price elasticity of demand.

The elasticity of demand for a product depends on how narrowly the product is defined. Demand for Reebok
sneakers is more elastic than is the overall demand for shoes. Many other brands are readily substitutable
for Reebok sneakers, but there are few, if any, good substitutes for shoes.
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e Proportion of Income sllzuld) (531 e dadadl Lo 5L Al

Other things equal, the higher the price of a good relative to consumers incomes, the grater the price elasticity
of demand.

sl de plal ols JUll Jae dad cllgadl J55 oo Zaladl el de 3Ly 2w ol Ll &g AST (0980 Aaladl de cllall 16 Zole §590m
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Lallae aie agllall 41 il

A 10 percent increase in the price of low-priced pencils or chewing gum amounts to a few more pennies
relative to one’s income, and quantity demanded will probably decline only slightly. Thus, price elasticity for
such low-priced items tends to be low. But a 10 percent increase in the price of relatively high-priced
automobiles or housing means additional expenditures of perhaps $3000 or $20,000, respectively. These
price increases are significant fractions of the annual incomes and budgets of most families, and quantities

demanded will likely diminish significantly. Price elasticity for such items tends to be high.

e Luxuries versus Necessities gyl aludls aaldll gl

The more that a good is considered to be a luxury rather than a necessity the grater is the price elasticity of
demand.

e TS 5 o) A9l Baladl ya g lanyl AL of A9 Baladl 58 us oo iy (A yaad] bl g L Sauzell Jalyall (e Aaled) Zagls
Bog—sm L Lsllall 4 3 o lasm¥) ghswd LS 2ol adl o wo gyl Lol Lge clinz o) 25180) putey L) aloell Tlas Le Bgllall 2,aS3)
For example, electricity is regarded as a necessity: it is difficult to get along without it. A price increase will

not significantly reduce the amount of lighting. On other hand, jewelry are luxuries. If the prices of jewelry
rise, a consumer need not buy them.
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Time (il gulls Jsokatl cull)

Product demand is more elastic the longer the time period under consideration. Consumers often need time
to adjust to changes in prices. For example, when the price of a product rises, time is needed to find and
experiment with other product to see if they are acceptable.
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Example: Choose the correct answer

1.

Which of the following is not a determinant of the price elasticity of demand?
A. Time to adjust

B. Auvailability of substitute goods

C. Whether the good is low-priced or high-priced

D. Whetherthe consumeris low or high income

Overtime, the demand of a good or service

A. becomes more elastic.

B. becomes less elastic.

C. initially becomes more elastic and then becomes less elastic.
D. initially becomes less elastic and then becomes more elastic.

The the portion of yourincome spent on a good, the is your demand for the good.
A. larger; more income elastic.

B. larger; more price elastic.

C. smaller; more price elastic.

D. smaller; more income elastic.

Which of the following factors will make the demand for a product more elastic?
A. The product has no close substitutes.

B. A very small proportion of income is spent on the good.

C. Alongtime period has elapsed since the product’s price changed.

D. A lower price.

The demand schedules for such products as eggs, bread, and electricity tend to be:
A. perfectly price elastic.

B. of unit price elasticity.

C. relatively price inelastic.

D. relatively price elastic

The elasticity of demand for a product is likely to be greater:

A. if the productis a necessity, rather than a luxury good.

B. the greater the amount of time over which buyers adjust to a price change.
C. the smaller the proportion of one's income spent on the product.

D. the smaller the number of substitute products available.

We would expect:

A. the demand for Coca-Cola to be less price elastic than the demand for soft drinks in general.

B. the demand for Coca-Cola to be more price elastic than the demand for soft drinks in general.

C. no relationship between the price elasticity of demand for Coca-Cola and the price elasticity of demand
for soft drinks in general.

D. none of these to hold true.
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Applications of Price Elasticity of Demand s cdlatl @ oyl ddoal! licdadd| an

Large Grope Yields

The demand for most products is highly inelastic. As a result, increase in the output of farm products arising
from a good growing season or from increased productivity tend to depress both the prices of farm products
and the total revenue of farmers.
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Excise Taxes

The government pays attention to elasticity of demand when it selects goods and services on which to levy
excise taxes. If a $1 tax is levied on a product and 10,000 units are sold, tax revenue will be $10,000
(1x10,000). If the government rises the tax to $1.5 but the higher price that results reduces sales to 5000
because of elastic demand, tax revenue will decline to $75,000 (1.5 x 5000). Because a higher tax on a
product with elastic demand will bring in less tax revenue, legislatures tend to seek out products that have
inelastic demand such as liquor, gasoline, and cigarettes.
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Price Elasticity of Supply & sl (& 2l g 3

The percentage change in the quantity supplied of a good in response to a 1 percent change in its price.

UL aols Bdy Aalld) jau pad Aed Lo Aaluo (10 Ao gyall ST Lt (gie & yaudl (o yall &g y0 utds

If the quantity supplied by producers is relatively responsive to price changes, supply is elastic. If it is relatively
insensitive to price changes, supply is inelastic.

Es=

Es =

Percentage change in quantity
supplied of product X
Percentage change in the price
of product X

%AQs _ Q-9 . P2-pP; _Q2-04 X P4 pq

%AP Q+@Q1 P24p; Q2404 Py - pq

The price elasticity coefficient of supply Es will always be a positive nhumber, because the price and quantity

supplied are directly related.
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For example, suppose an increase in the price of a good from $4 to $6 increase the quantity supplied from 10
units to 14 units. Find the price elasticity of supply from a price increase.

%AQs _ Qz-qQq . Pz—p; (14-10) | (6-4) 4 2 4 42 40 ) )
s = = 22O 2P + =— +—= — *=—=—=0.83 < 1inelastic
% AP Q2+0Q; P2+p; (14+10) (6+4) 24 10 24 10 48

Supply is inelastic, if the Es <1
Supply is elastic, if the Es > 1
Supply is unit elastic, if the Es = 1

Example:
If a rise in the price of oranges from $7 to $9 a bushel, increases the quantity of bushels supplied from 4,500

to 5,500 bushels. Is demand for oranges elastic or inelastic?

%AQs  Qp_ Pyip 5,500—4,500  9+7 1,000 16 _
= 91 L = X = X —=0.8>1 » elastic
% A P Q4+,  P2-p, 550044500 9-7 10,000 2

Es =

Example:
The quantity supplied of new cars increases by 12 percent when the price of a new cars rises from $20,000

to $22,000. What is the price elasticity of supply?

P,_p;, _ 22,000-20,000 _ 2,000
(P24 p;)/2  (22,000420,000)/2 21,000

%AP = =9.5%

%AQs _12%
%AP 95%

Es= =1.26

Example: Choose the correct answer

1. If the elasticity of supply is 2, this means thatif
A. the price rises by one dollar, the quantity supplied will rise by two dollars.
B. the pricerises by one percent, the quantity supplied will rise by two percent.
C. the price rises by two percent, the quantity supplied will fall by two percent.
D. the price rises by two percent, the quantity supplied will rise by one percent.

2. If a 3% decrease in the price of chocolate causes a 2% decrease in the quantity supplied, the
A. demand for chocolate is elastic.
B. demand for chocolate is inelastic.
C. supply of chocolate is elastic.
D. supply of chocolate is inelastic.

3. Supply is elastic if
A. a1 percentchangein price causes a larger percentage change in quantity supplied.
B. the good in question is a normal good.
C. the slope of the supply curveis positive.
D. a1 percent change in price causes a smaller percentage change in quantity supplied.

4. |If araise in the price of oranges from $7 to $9 a bushel increases the quantity of oranges supplied from 4,000
bushels to 6,000 bushels, then
A. supply of oranges is elastic.
B. supply of oranges is inelastic.
C. demand for oranges is inelastic.
D. demand for oranges is elastic.
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In analyzing the impact of time on elasticity, economists distinguish among the immediate market period, the
short run, and the long run.

Price Elasticity of Supply: The Market Period

Market period: is the period that occurs when the time immediately after a
change in market price is too short for producers to respond with a change in
quantity supplied.

In the immediate market period, there is insufficient time to change output, and
so supply is perfectly inelastic.

Price Elasticity of Supply: The Short Run

The short run: is a period of time too short to change plant capacity but long enough to use the fixed sized plant
more or less intensively.

Sl el I3 b s B lid) obiall sda pan 2408 08 JWls (A ln ¥ pualiall praz GeS il 23S sl i 5500
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(us\S_L\ SS9 alpaiwl g tu,a.AU =PRI
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In the short run plant capacity is fixed, but changing the intensity of its use can alter
output; supply is therefore more elastic.

The outcome of an increase in demand from D1 to Dz is a smaller pricerise and an  E,
increase in quantity from Q1 to Q..

Price Elasticity of Supply: The Long Run

The long run: is a time period long enough for firms to adjust their plant size and for new firms to enter (or existing
firms to leave) the industry.

omdill of 8Ll A li¥l usliall puen LueS piidd LAS0 Loy Aol 3k 578 Jies 58 Jislall ol Lo

In the long run all desired adjustment, including changes in plant capacity, can be mad, and supply becomes still
more elastic.

The outcome of an increase in demand from D+ to D2 is a smaller price rise and a larger output increase.

Q
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Price elasticity of supply and Total Revenue

If supply is elastic or inelastic, a decrease in price will decrease total revenue. Or an increase in price will
increase total revenue.

Example: Choose the correct answer
1. If the price elasticity of supply for a product equals %, as its price rises the
A. totalrevenueincreases.
B. quantity supplied does not change.
C. total revenue does not change.
D. total revenue decrease

2. Avertical supply curve indicates an elasticity of supply that equals
A0
B. infinity
C. 1
D. -1

3. Along-run supply curve, as compared (& 4kl to a short-run supply curve for the same commodity, is
generally:
A. More elastic
B. Less elastic
C. Ofthe same elasticity
D. None of the above

4. Supply is said to be inelastic when:
A. Anincreasein price results in a reduction in total revenue
B. Anincrease in price results in no change in total revenue
C. Areductionin price results in a decrease intotal revenue
D. The elasticity coefficient is more than one

Income Elasticity of Demand 5L Jas ) cllall & gpe

The income elasticity of demand equals the percentage change in the quantity demanded of a good in response
to a 1 percent change in income.

%1 Ay gl 55 s Losie Baludl de LI 3 asall Lesd 2

Percentage change in quantity

E = demanded
! Percentage change in the

income

%AQ _ Q2-Q1 12+ 11

X
%AI Q2+Q1 12-11

Example
Last year, Jaber bought 50 pounds of hamburger when the household income was $40,000. This year, the

household income was only $30,000 and Jaber bought 60 pounds of hamburger. All else constant Jaber’s income
elasticity of demand for hamburger is

%AQ Q2—Q1 I2+I1 (60-50) _ (30,000440,000) 10 70,000 70 0.63
= = =—X = = - .
%AI  Q2+Q1  I2-I1 60+50) ~ (30,000—40,000) 110 —10,000 —110
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Example
If the income elasticity of demand for chocolate candies is 1.2, what percentage change in income is necessary

to reduce the amount of chocolate candies demanded by 15%?

%A -15% -15% .
Ei = bae 2> 12= = > %Al = 2 = -12.5% (decrease income by 12.5%)
%Al %Al 2

Normal Goods
If the income elasticity coefficient Ei is positive (Ei >0), meaning that more of them are demanded as income
increase. Such goods are called normal or superior goods.

Inferior Goods
If the income elasticity coefficient Ei is negative (Ei <0), meaning that less of them are demanded as income
increase. Such goods are called inferior goods.

Example: Choose the correct answer
1. A 10 percent decrease in income decreases the quantity demanded of compact discs by 3 percent. The
income elasticity of demand for compact discs is
A. 10
B. 3.3
C. 03
D. 0.3

2. If the income elasticity of demand for Cheer detergent is -3, then a
A. 12 percent fall in income leads to a 4 percent rise in the quantity demanded
B. $1,000 fall in income leads to a 3,000-unit rise in the quantity demanded
C. 12 percentfallin income leads to a 36 percentrise in the quantity demanded
D. 12 percent rise in income leads to a 36 percent rise in the quantity demanded

3. Average income increases from £20,000 to £22,000. Quantity demanded per year increases from 5000 to
6000 units. Which of the following is correct?
A. Demandis price inelastic
B. The good is inferior
C. Thegoodis normal
D. Income elasticity is -2

4. For an inferior good with a downward sloping demand curve:
A. The price elasticity of demand is negative; the income elasticity of demand is negative.
B. The price elasticity of demand is positive; the income elasticity of demand is negative
C. The price elasticity of demand is negative; the income elasticity of demand is positive.
D. The price elasticity of demand is positive; the income elasticity of demand is positive.

Cross Elasticity ofdemand bl sl 2 g,0

The cross-price elasticity of demand measures the percentage change in the quantity demanded of a good (say,
X) in response to a 1 percent change in the price of another good (say, Y).

%1 adY Aladl jau s baeX daludl e cdbadl § il dud
Percentage change in quantity
supplied of product X _ %AQy
Percentage change in the price %AP
of product ¥

Exy =
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The coefficient of cross elasticity of demand may be either positive or negative.

Example
Suppose that the number of units of good X fall 6 percent when the price of good Y falls 4 percent. What is the

cross elasticity of demand between goods X and Y?

oo %AG _ - 6%
YT %aR, T 4%

1.5

Substitute Goods
If cross elasticity of demand is positive, meaning that sales of good X move in the same direction as a change in
the price of good Y, then goods X and Y are substitutes.

Complementary Goods
When cross elasticity is negative, we know that X and Y go together; an increase in the price of one decrease the
demand for the other. So, the two are complementary goods.

Independent Goods
A zero or near zero cross elasticity suggests that the two products being considered are unrelated or independent
goods.

Example: Choose the correct answer
1. When two goods are substitutes for each other, the cross elasticity of demand
A. Will b. e negative.
B. Will be zero
C. Will be positive
D. May be either positive or negative.

2. If the price of orange juice rises the demand for grapefruit juice will increase, then the cross-price elasticity
between orange juice and grapefruit juice will be
A. Positive
B. Negative
C. Zero
D. Infinity

3. Suppose that when the price of good X changes, the quantity of good Y remains the same. We would expect
the cross elasticity of demand to be
A. Negative
B. Zero
C. Positive
D. Either positive or negative.

4. The cross-price elasticity of demand between i-phone and charger (c-L)
Will be negative

Will be zero

Will be positive

May be either positive or negative (s § iulsd W (<5 )

ocowp
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Chapter 10

Business and the of Production
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Chapter 10: Business and the of Production A mle daaa

Economic and Accounting Cost: 4sswlaal) cilleil) g Lalaidy) il

Costs exist because resources are scare, productive, and have alternative uses. The economic cost of
any resource used to produce a good is the value the resource would have in its best alternative use.
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Explicit and Implicit Costs dxiadal) Cidlsil) 5 (Adadl)) day pall Cilsil)

Explicit costs are the monetary payment (or cash expenditures) the firm makes to those who supply
resources.

QHJH}M\JP‘&AC&Y\FMCuuhdquﬁaa\)a@uﬂ\w&";ﬂ\éw\usbJL\L@ 2\;.1}41\&4.\51535\
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Explicit cost examples:

- Payment of wages of workers

- Payment for raw materials

- Transportation cost

- Maintenance expensive (Lluall il 5 jax)
- Taxes (<l _yall)

Firm’s implicit costs are the opportunity costs of using its self-owned, self-employed resources.
Money payment that self-employed resources could have earned in their best alternative use.
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Implicit cost examples:

- Forgone rent from the building owned and used by a company (A&l 4exiing g aShia e (e el Lpsaill)
- Forgone wage

- Forgone interest

Example: choose the correct answer

1. Implicit costs are:
A. Equal to total fixed costs
B. Comprised entirely of variable costs
C. "payments" for self-employed resources
D. Always greater in the short run than in the long run
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2. Cash expenditures a firm makes to pay for resources are called:
A. Implicit costs
B. Explicit costs
C. Normal profit
D. Opportunity costs

3. Which would be an implicit cost for a firm? The cost:
A. Of worker wages and salaries for the firm
B. Paid for leasing a building for the firm

C. Paid for production supplies for the firm
D. Of wages foregone by the owner of the firm

Accounting cost = Explicit cost

Economic cost = Explicit cost + Implicit cost

Normal Profit as a cost:

The firm’s normal profit is the opportunity cost of the resources supplied by the owners of the firm, or
their implicit cost.

Normal profit is the payment made by the firm to obtain and retain entrepreneurial ability.

A ) 4xi 30 dlaall ) ganiall TSI i ¢ A8 ol LeSEiay Ll ) sl ALyl il IS5y 3,0 5ol
L@AL&S&Y\)@‘)M\&M&QEJE\&QJM

Accounting and Economic Profits:

Accounting profit = Total Revenues - Explicit Costs
Economic profit = Total Revenues - Economic cost

Economic profit = Total Revenues - (Explicit Costs + implicit Cost)

If Total Revenues (TR) > Economic cost (TC) the firm make profit (zL_) @iss
If Total Revenues (TR) < Economic cost (TC) the firm incur losses (solwa i

If Total Revenues (TR) = Economic cost (TC) the firm make zero profit (in this case the firm
earns normal profit).
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Example:
If explicit costs equal $40,000, implicit costs equal $95, 000, and accounting profit equals $23,000.

1. Calculate total revenue

Accounting profit = Total Revenues - Explicit Costs

23,000 = total revenue - 40,000
Total Revenues = 23,000 + 40,000 = $63,000

2. Calculate the economic profit.
Economic profit = Total Revenues - (Explicit Costs + implicit Cost)

Economic profit = 63,000 - (40,000 + 95,000) = $—72,000 (losses)

Example:
Suppose that a firm produces 200,000 units a year and sells them all for $10 each. The explicit costs

of production are $1,500,000 and the implicit costs of production are $300,000.

1. What is the firm accounting profit?
Accounting profit = Total Revenues - Explicit Costs
Total Revenues = P * Q = 200,000 * 10 = $2,000,000
Accounting profit = 2,000,000 - 1,500,000 = $500,000
2. What is the firm Economic profit?
Economic profit = Total Revenues - (Explicit Costs + implicit Cost)

Economic profit = 2,000,000 - (1,500,000 + 300,000) = $200,000

Example: Choose the correct answer

1. Economic profits are equal to:
A. Total revenues minus fixed costs
B. Total revenues minus the costs of raw materials
C. Total revenues minus the opportunity costs of all inputs
D. Gross profit minus selling and operating expenses

2. If afirm's revenues just cover all its opportunity costs, then:
A. Normal profit is zero
B. Economic profit is zero
C. Total revenues equal its explicit costs
D. Total revenues equal its implicit costs
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3. Normal profits are:
A. The profits reported by accountants on a firm's annual financial statement
B. ldentical to economic profits
C. Determined by subtracting total costs from total revenues
D. Considered an implicit cost by economists

4. Economic profits are:
A. Always larger than accounting profits
B. The sum of accounting profits and implicit costs
C. Equal to the difference between total revenues and implicit costs
D. Equal to the difference between accounting profits and implicit costs

Short run and Long run Jashl) saall 5 yuall) sl

« Short Run (SR): is the time period where some of the resources are fixed (plant) and others are
variable (labor, materials...).

ade o) Aali¥) jealinll maan i AlSal Jasi 5y Lail g cbadne Aise ) 5yt Jasi 5 Y SuaBY) & peal) (s2all 2 e ()

228 (amy 43aS (b il s Aalia¥) jualinll pran daaS il A4S Cund dine 5 358 Jiay jualll saalé @l 4l
3l alls YA 3 JIS Aa i) jealial

S Al AaaS 33l ) b e Lt Sl AndAl) ol S ey s aedaton JBal) Jaw e 3 jaiall aaliad

‘)AAM‘D.JA@A.;:\T)ASJ..L}:!Q\@&HYMJ'M&\‘J&&‘JQ%J‘%}G?GJ:L}...!Q:IM\JLA:J‘JJQ}L@AM.J
ALl LU ) Glela JOA uial) a5 Jlaall 22 &y 3 o) Bl Jis e adeUainly (S 138 3 j0ad 3 ) 5 558 DA

3 il 5 aiaall 4 53U daa g3l oLl g Slaall il ) adiaall dpaliny) A8l 2ol 51 AL gla d4ie 55 38 ) o Uia 438
(S
« Long Run (LR): is the time period where all resources are variable.

il ) 8Ly I Kl ealin) pen G il iS5 Lay Al o i 38 38 ey ol s2al

*  When all resources are fixed: very short run.
Caa yuall gaally Al el jualiall s 2aS g ()5S ) 5 il s

Example: Choose the correct answer

1. The main difference between the short run and the long run is that:
A. Firms earn zero profits in the long run
B. The long run always refers to a time period of one year or longer
C. Inthe short run, some inputs are fixed
D. Inthe long run, all inputs are fixed

2. Thelong run is a period of time, or a time-frame, in which:
A. All resources are fixed
B. The level of output is fixed
C. The amount of all resources can be varied
D. The capacity of the production plant is fixed
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Short Run Production Relationship

Total Product (TP), Average Product (AP), and Marginal Product (MP)

Total product (TP): is the total quantity (output) of a particular good or services produced.

i) pealiall (o A iy alaiinl Lealii) ay 3 e o IS0 il

Average Product (AP)(Labor productivity): is output per unit of labor input.

AP _Ir
L
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Marginal Product (MP): is the extra output associated with adding unit of labor to production process.

il Jalay Jlaall 232 300 5 e Al LY AiaS 3 5ol 311 )i s saal) il

wp AP
AL
Example:
Labor TP MP AP
0 0 --- ---
1 10 10 10.00
2 25 15 12.50
3 45 20 15.00
4 60 15 15.00
5 70 10 14.00
6 75 5 12.50
7 75 0 10.71
8 70 -9 8.75
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Example:

Complete the following table:

Unit of labor (L) | Total product (TP) | Average product (AP) | Marginal Product (MP)
1 60
2 55
3 34
4 152
Solution:
Unit of labor (L) | Total product (TP) | Average product (AP) | Marginal Product (MP)
1 60 60/1 =60 --
2 55*2 =110 55 (110-60)/(2 -1) =50
3 144 144/3 =48 34
4 152 152/4 = 38 (152-144)/(4-3)=8
Example:

Use the following table to answer questions below it

Unit of labor (L) | Total product (TP)
1 20
2 70
3 120
4 150

1. What is the average product of two workers?

TP 70
AP= — = —=35
L 2

2. What is the marginal product of numbers of labor increase from 3 to 47?

MP =

AL

ATP (150 —120) 30
(4-3) 1

=30

3. What is the marginal product of the 3@ worker?

ATP (120 —70) 50

MP = = —
AL

3-2) 1

STODENTS-HUB.com
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Total Product, Average Product and Marginal Product Curves:

Total product curve(TP), goes through three phases: it rises initially at an increasing rate; then it
increasing, but at a diminishing rate; finally, after reaching a maximum, it declines.

Marginal product (MP) is the slope of total product curve. The three phases of total product are also
reflected in marginal product.

When total product is increasing at an increasing rate, marginal product is rising (extra unit of labor
are adding larger and larger amount to total product.

Where total product is increasing but at a decreasing rate, marginal product is positive but falling.

When total product is at a maximum, marginal product is zero. When total product declines, marginal
product becomes negative.

75
0
o
¢ 50
e
(=9
g
28
0 I 2 3 4 5 [ 7 8 9
Quantity of labor
Incre;sing Diminishing Neg.-;tive
marginal marginal marginal
20 returns returns returns

10 ""-\__.‘.ﬁp

Marginal product, MP

\HP

0 2 3 4 5 6 7 8 9
Quantity of labor
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Law of Diminishing Returns &) (<8l ¢ oil8

It states that as successive units of a variable resource (say, labor) are added to a fixed resource (say,
capital or land), beyond some point the extra, or marginal, product that can be attributed to each
additional unit of the variable resource will decline.

o) aie e 400 Ee ) (Slie JeallS) juiie a2l jeaie (e Al Calas 5 ALl 2313 4 e gty Alal) il ) 58
Alipre dai any il 8 380 o 0 Y ATy Vol 2 3 8 el jeatall gaall i) cad (KAl A

For example, if additional workers are hired to work with a constant amount of capital equipment, output
will eventually rise by smaller and smaller amounts as more workers are hired.

Increasing Diminishing Megative
& marginal marginal marginal
d 20| returns returns returns
=
g
(=9
S 10 T~ AP
B
v}
z

\MP

0 2 3 4 5 & 7 8 9
Quantity of labor

MSAA&QJL;L\L;\ d-‘-é-‘u‘ L_A‘ Lsd;j‘ C._a\_d\ cJ\.ﬁJ‘;\ M\Jﬂ\@ddﬁ ‘):\:\’_\AM CL\JY\ _)mx: od\_i_) u\ ‘_ALY\‘;(.\M‘)S\ L}A.L;)\.i
Increasing -adall a3 " s 5 quaj\ Ul Lgd 2l 5y Al L_J}Y\cd;).d\ Sle sl Lk iay My glany i il g &
— alall a8ln" Al e Ul Ty O O Uas\_ujl_a quaj\ “Ld\ e fay GJ\ ) s el ‘_;s Al Win " return
Negative — il Alall " 41y Legde 3las Uil gaal cu\-d‘ Lo ey ) 5,41 A 54l Wl "Diminishing returns
(_A\ Lgdymwmsdsqﬂ\jd\s‘);j\ C""‘A'U \JA\AAJ‘)A@AAAS\WJM\ eyl u.da}q sl 13) MY\) return
Lgd;l\ C"'L\M nia e el daada (Ko (MJ\.&_) (e YJ.& CL\JY\ =8l

Example: Total
Product
1. What is the average product of 41" worker? 75
68
TP 68 66
AP - — = — = 17 57
L 4
2. What is the marginal product of the 3" worker? 42 _

MP_ATP_(57—42)_15_15
AL (3-2) 1

3. What s the marginal product of the 7" worker? Y

MP — ATP  (66—-68) -2 _ 0 1 2 8 4 5 6 7 8 Labor

AL~ (7-6) 1 (units)

4. At what level of worker does MP equal zero? When TP at maximum; at L=5
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Example: Choose the correct answer:

1. According to the law of diminishing marginal returns:
A) Output will fall and then rise as additional units of input are employed
B) Employing additional inputs will diminish total output
C) The additional output generated by additional units of an input will diminish
D) The additional inputs necessary to produce an additional unit of output will diminish

2. Which of the following statements is true?
A) Diminishing marginal returns sets in after marginal product intersects average product
B) Diminishing marginal returns means that in order to increase output at a constant rate, the firm
must add larger and larger quantities of the variable inputs
C) Diminishing marginal returns implies that there will never be increasing returns to scale
D) Diminishing marginal returns implies that the firm’s profits will be shrinking

3. Diminishing marginal returns occurs as a firm adds more variable inputs to at least one fixed input
because:
A) The ability or quality of the variable inputs hired decreases as more are hired
B) The firm must lower the price of its product when it produces more units of output
C) The per unit cost it must pay for variable inputs increases as more inputs are hired
D) As more variable inputs are hired, the amount of the fixed input per variable input decreases

4. The total product curve graphically shows the:

A) Minimum level of output that can be produced by a quantity of a variable resource holding
constant the quantity of other resources

B) Minimum level of output that can be produced by a quantity of a fixed resource letting other
resources vary

C) Maximum level of output that can be produced by a quantity of a fixed resource letting other
resources vary

D) Maximum level of output that can be produced by a quantity of a variable resource holding
constant the quantity of other resources

5. When the total product curve is falling, the:
A) Marginal product of labor is zero
B) Marginal product of labor is negative
C) Average product of labor is increasing
D) Average product of labor must be negative

6. The range of diminishing marginal productivity begins when:
A) Total product begins to fall
B) Average product reaches its maximum
C) Marginal product reaches its maximum
D) Marginal product begins to fall at an increasing rate

7. Refer to the above graph showing the marginal product (MP.) and
the average product of labor (APL). At what range of labor employed
does diminishing marginal returns set in?

A) A-B
B) B-C
C)B-D
D) A-D
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Example:

The table below shows the total production of a firm as the quantity of labor employed increases. The
quantities of all other resources employed are constant.

Marginal Average
Inputs of Total product of product of
labor product labor labor

0 0 — —
40

100

165

200

225

240

245

240

T

[ B I

1. Compute the marginal and average products and enter them in the table.

Marginal Average
Inputs of Total product of product of

labor product labor labor

0 0

1 41 40 40
2 100 &0 S0
3 165 65 oD
4 200 35 =0
& 225 25 45
6 240 15 40
7 245 L 15
& 240 -5 30

2. At what levels are there increasing returns to labor and at what levels are there decreasing
returns to labor?

There are increasing returns to labor through the third worker hired. Decreasing returns to labor
set in with the fourth worker.
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The relationship between marginal product and average product:

- Where marginal product exceeds (c« i) average product, average product rises.
- Where marginal product is less than average product, average product declines.
- Marginal product intersects (~ £&\si\) average product where average product is a maximum.

Diminishing marginal

returns begin

=]
&
R
o O
3 2
o8
o
D 5 Average product

e
5 | Point of maximum
£ average product

Marginal product

Quantity of Variable Input

Short Run Production Costs:

Fixed, variable, and Total costs sl cidl<il) ¢ 5 piiiall g AL Cadisil|

Fixed costs 4l cadiil) .

are those costs that do not vary with changes in output. Fixed costs are associated with the very
existence of a firm’s plant and therefore must be paid even if its output is zero.

U Sk e Lot ki Y 5 AL Y1 ealinl e shaall iliall 4 G50 Callsall

Examples of fixed cost:

- rental payments Jaall ja

- interest on a firm’s debts L= &l e sl

- a portion of depreciation on equipment and buildings ¢Sl &DUial dad
- insurance premiums are generally fixed costs ¢uelill Cilads

Variable Costs 5 scial) Cidl<il)

Variable costs are those costs that change with the level of output. They include payments for materials,
fuel, power, transportation services, most labor, and similar variable resources.
Aatial) sl jads cA(,asu"'"jM“,“' [PERN 1330 ) ae 2 3 ‘;_ﬁ\}s jieiial |zl palial de gaa4l) éJLgAJ\ SR8 jlal) Caall<il)
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Examples of variable cost:

- payments for materials sl 3l gal) Call<s
- fuel, power &Ll &lé 5 pns

- transportation services Jaill call<s

- labor cost Juall sl

Total Cost alsl Gl

Total cost is the sum of fixed cost and variable cost at each level of output:

TC = TFC + TVC

» At zero units of output, total cost is equal to the firm’s fixed cost.

Total-Cost Data 3
(1 @) 3) (4) $1100
Total Total Total Total 1000
Product Fixed Variable Cost (TC)
(Q) Cost (TFC) Cost (TVC) TC=TFC +Tvc 700
0 $100 $ 0 $ 100 800
I 100 90 190 700
2 100 170 270 600
3 100 240 340 o0
4 100 300 400
5 100 370 470 400
6 100 450 550 300
7 100 540 640 200
8 100 650 750
9 100 780 880 100
10 100 930 1030
0
Example

Use the following to answer questions

Output Total Cost
0 $10

20

28

38

53

73

o8

Ok WN=
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TC

TVC

Fixed cost

~Yariable cost

TFC

L
I 4 5 & 7 B 9 10Q
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1. What is the firm fixed cost?
TFC =TC when Q=0
TFC =%10

2. What is the total variable cost of producing 5 units?
TC = TFC + TVC
TVC = TC — TFC = 73- 10 = $63

Example

Use the following to answer questions below it

%
o

100

Cost (dollars per day)

75

50

30

! : |
5 10 13 15
Output (sweaters per day)

1. What is the firm total fixed cost?

TFC = Intercept of TC curve

TFC =$30
2. What is the total variable cost of producing 13 units?

TC = TFC + TVC

TVC = TC — TFC = 100- 30 = $70
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Per -unit, or Average Costs:

Average fixed cost (AFC): 45Ul cal<a) du gia

Is found by dividing total fixed cost by that output

2 — TFC
Q

Because the total fixed cost the same regardless of output, AFC must decline as output increases.

Average Variable cost (AVC): 5 uiiall Cilil) Ja gia

Is calculated by dividing total variable cost by that output

ave = TV€
Q

Due to increasing and then diminishing returns, AVC declines initially, reaches a minimum, and then
increases again. A graph of AVC is a U-shaped or saucer-shaped curve.

Average total cost (ATC) A<l Caulsil) Jaw gia

for any output level is found by dividing total cost (TC) by that output (Q) or by adding AFC and AVC
at that output:

ATc = & = L TVC _ AFc + AVC
Q Q Q

Marginal Cost (MC):

is the extra, or additional, cost of producing one more unit of output.
a5 8as g dainall dpasl) 3L ) e Anslal) 4K Callssll 8 Baly 1 e cdsaal) Al

MC can be determined for each added unit of output by noting the change in total cost that unit’s
production entails:

= ATC
=20
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Example:

At 100 units of output, total cost is $40,000 and total variable cost is $34,000. Calculate AFC, AVC,
and ATC, at Q=100

TFC = TC- TVC = 40,000 - 34,000 = $6,000

AFC TFC 6,000 $60
- Q 100

Ve — TVC 34,000 6340
- Q 100

ATC = AFC + AVC = 60 + 340 = $400

Example:

A firm average total cost is $80, its average variable cost is $75, and its output (Q) is 50 units. What is
the total fixed cost (TFC)?

ATC = AFC + AVC

AFC = ATC— AVC = 80-75 = $5

AFC = T%C > 5= % > TFC =50 *5 = $250
Example:

A firm marginal cost is $100, its average total cost is $50, and its output is 600 units. What is the total
cost of producing 650 units?

ATc = 5 50= 5 & T¢ =50%600 = $30,000
Q 600
ATC 100 ~ T€—30000 100 = 1€~ 30,000
= — - = - =
AQ 650 — 600 50

TC — 30,00 =5,000 — TC = 30,000+ 5,000 =$35,000
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Example:

Using the data in the table to answer the following questions:

Output (Q) Total cost (TC)
0 40
2 80
4 160
6
8

260
380
10 490

1. What is the average fixed cost (AFC) of producing 2 units of output?
TFC = TC when Q=0
TFC = $40

AFC = T%=ﬂ = $20

2

2. What is the average variable cost (AVC) of producing 6 units of output?

TVC = TC— TFC = 260 — 40 = $220
AVC = e _ 220 _ $36.67
e 6 T

3. What is the average total cost (ATC) of producing 8 units of output?

ATC—TC— 380—475
=5 -8 -

4. What is the marginal cost (MC) of increase production from 8 units to 10 units of output?

ATC _ (490-380) _ 110 _ $55

MC = AQ  (10-8) 2
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Example:

Complete the following table

Output(Q) TVC TC AVC ATC MC
0 100
1 30
2 75
3 59
4 13
Solution:

AUl Callssl) Aa8 Aed;ﬁeﬁg’é,bi Js

TFC=TCwhenQ =0 — TFC =100

TVC =TC - TFC
TVC
AVC = o TVC = AVC*Q
TC
ATC = " TC = ATC*Q
Output(Q) TVC TC AVC ATC MC
0 0 100 - - -
1 30"1=30 | 100+30 = 130 30 130/1 =130 | (130 - 100)/(1 - 0)=30
2 150-100=50 | 752 = 150 50/2= 25 75 (150 - 130)/(2 - 1)=20
3 59 50+100 = 159 | 59/3=19.6 | 159/3=53 | (159- 150)/(3 - 2)=9
4 172-100 = 72 172 72/4=18 | 172/4=43 13
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The relationship of the MC curve to AVC and ATC curves:

$200
MC
150
8
2 100 ATC
Y AVC
50
= AFC
0 I 2 3 4 5 & 7 8 9 10 Q

Quantity

» The marginal-cost curve MC intersects both the AVC and the ATC curves at their respective
minimum points.

» When MC is below average total cost, ATC falls; when MC is above average total cost, ATC rises.
» When MC is below average variable cost, AVC falls; when MC is above average variable cost,

AVC rises.

Shifts of the Cost Curves

Changes in either resource prices or technology will cause costs to change and cost curves to shift.
Resource prices T — Cost curves upward

Resource prices | — Cost curves downward

o If fixed costs double, the AFC curve would be shifted upward. At each level of output, fixed costs are
higher. The ATC curve would also move upward because AFC is a component of ATC. But the
positions of the AVC and MC curves would be unaltered because their locations are based on the
prices of variable rather than fixed resources.

o if the price (wage) of labor or some other variable input rose, AVC, ATC, and MC would rise and
those cost curves would all shift upward. The AFC curve would remain in place because fixed costs
have not changed.

The discovery of a more efficient technology would increase the productivity of all inputs and decrease
the cost of production.
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e A technological improvement means a downward shift in the cost curves

Long Run Production costs Jishll sall & il

In the long run an industry and its individual firms can undertake all desired resource adjustments. That
is, they can change the amount of all inputs used. The firm can alter its plant capacity; it can build a
larger plant or revert to a smaller plant than that assumed. The industry also can change its overall
capacity; the long run allows sufficient time for new firms to enter or for existing firms to leave an
industry.

Firm Size and Costs

Suppose a manufacturer with a single plant begins on a small scale and, as the result of successful
operations, expands to successively larger plant sizes with larger output capacities. What happens to
average total cost as this occurs? For a time, successively larger plants will reduce average total cost.
However, eventually the building of a still larger plant will cause ATC to rise.

o o sill Y1 ealic (o ST el W rlin A all (Y Tylas U1 a8 iy LS s 55 i shall (sl 8 L) S
& s hall a8 gon sl (535 b Faiial) el (e (il T sia ) Band sl s sl AISE any 13la STy bl (e 3y Sl 2L
Lol ol CallSall L i (a3 )

Alad) 8 oyt LSl oy shall aall (8 Lgin (e LA () R 3l a1 Aabiaal) ailiaall alaal (e de gana sale @llia
O Wiy S aiaad EEl 5 anall Jan gis piiad SUE aaallg aaall jia piadd J5¥) aaall; ddlida dlaa) 28306 cllia
radll (aal) o oSl dan gia Saial U ey 28y JSGN udi e piiae IS juall) gaall 8 CallSil) Lo gl st au

(ATC-3) sl giadll 5 (ATC-2) Laus siall s (ATC-1 ) paall s piuadl

n RR—
S
-
S ATC-4
<.
o0
5 \ ATC-I
S ATC2
Z ATC1 j§<

ATCO

0 15 20 25 30 35 50 60 ) Q

— Jtput

ARl &3 13) B8 ST () gSaus ApaS) o3 gl (f peaial sl (e Bans 15 s ylae dueS i) & e i s all o) Yl il
13 K1y ATC2 s Al Jaws gia G Jans siall givmalls 4 jlie ATCL 58 giaall 134 8 2803 Jass gia 0¥« piall giaadl)
ATCO5 gl 128 44K Jaws i ()Y 35U il () oS Jas sial) ginmaal) (a 52n 5 25 G Ui & ot 5 dsnn 3all cilS
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20 o Bl daiiall 4 CilS 1Y) jsall aiad) aladinly o stie A sall Gl 5 A1 8 e s ATCL 58 pall piadl) 45 )l
Ll dass siall wivaall padind o dewsall e i san 530 e 81 0815838 5 20 (e S o8 Aaiall LpaSl) cilS 13) Wl | Bas
Sl ) aa3is o) e (lisan 5 30 (o ST A 2l 8 e 5 A ) S 1Y)

iyl b <Al b pals sa WS Gl Gale elied) sl e 5 e s okl saall 8 G ol Zliy) el Lo sia
malll (gaal) & Callal) dau gia liiaia (e Asiiid) o) 32V Wl Long run average total cost (Saiall 13a Ao sllas Gl
Aalisal) culusl) C&Y\&\MSSML@JY\ Jo glall LQJAS\Q;@SM CallSil) Jaws gla nia C)Aic‘};‘).}zﬁjy‘;@j

Long-run
ATC

Average total costs

0 Qutput Q

The long-run average-total-cost curve is made up of segments of the short-run cost curves (ATC-

1, ATC-2, etc.) of the various-size plants from which the firm might choose. Each point on the bumpy
planning curve shows the lowest unit cost attainable for any output when the firm has had time to make
all desired changes in its plant size.

The long-run ATC curve shows the lowest average total cost at which any output level can be produced
after the firm has had time to make all appropriate adjustments in its plant size. In Figure above the
blue, bumpy curve is the firm’s long-run ATC curve or, as it is often called, the firm’s planning curve.

Economies and Diseconomies of Scale

We have assumed that, for a time, larger and larger plant sizes will lead to lower unit costs but that,
beyond some point, successively larger plants will mean higher average total costs. That is, we have
assumed the long-run ATC curve is U-shaped. But why should this be? It turns out that the U shape is
caused by economies and diseconomies of large-scale production, as we explain in a moment. But
before we do, please understand that the U shape of the long-run average-total-cost curve cannot be
the result of rising resource prices or the law of diminishing returns.
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Economies Constant returns Diseconomies
g of scale to scale of scale
8 r . i & L 4 1
|
Fir}
g
#
E Long-run
ATC
0 q 92
Output

law &5 2 501 el vie o ) deay o I Al A Gl CallSl) dass ie inie () Ll ) ole) JSEI Ul ]
economies axall sy agle slhay 138 5 L) oLl Jans sia (anidd ) g2 5 Al anall saly of ol el 2 g i)Y
e Gl s ¢S Lo S oIl Jaws gia ¢ 6 Cun Ak JB ) wiaal) ans Joay o ) 0l 58511 038 (i b 5. 0F scalle
o o ghall saall 8 LY CallSs Jaus gia (b Adaiil) 028 2 aaall 83l ) & il 13) L) minimum efficient scale axal 13

.diseconomies of scale aaall &l paii adde (gllay L ga 5 ool YL

Economies of Scale

Economies of scale, or economies of mass production, explain the down-sloping part of long-run ATC
curve. As plant size increases, a number of factors will for a time lead to lower average costs of
production.

83l g Laailiie Jy shallbaall 8 3000 Callall Jas sia Lgad (5 S 30 Alls) Jis (Economies of Scale) saall il s

Where economies of scale are possible, an increase in all resources of, say, 10 percent will cause a more-
than proportionate increase in output of, say, 20 percent. The result will be a decline in ATC.

Diseconomies of Scale

In time the expansion of a firm may lead to diseconomies and therefore higher average total costs. The
main factor causing diseconomies of scale is the difficulty of efficiently controlling and coordinating a
firm’s operations as it becomes a large-scale producer.

aaa 83 ) ae T e g shall (gaall 8 CadlSil) o i L )50 3 Alad) Jias (Diseconomies of scale) aaall <l s
uadl)

Where diseconomies of scale are operative, an increase in all inputs of, say, 10 percent will cause a less
than- proportionate increase in output of, say, 5 percent. As a consequence, ATC will increase. The rising
portion of the long-run cost curves illustrates diseconomies of scale.
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Constant Returns to Scale

In some industries a rather wide range of output may exist between the output at which economies of
scale end and the output at which diseconomies of scale begin. That is, there may be a range of
constant returns to scale over which long-run average cost does not change. The q 1 q 2 output range
of Figure.

Here a given percentage increase in all inputs of, say, 10 percent will cause a proportionate 10 percent
increase in output. Thus, in this range ATC is constant.

Minimum Efficient Scale and Industry Structure

Minimum efficient scale (MES), which is the lowest level of output at which a firm can minimize long-
run average costs. In Figure a that level occurs at g 1 units of output. Because of the extended range of
constant returns to scale, firms producing substantially greater outputs could also realize the minimum
attainable long-run average costs. Specifically, firms within the g 1 to g 2 range would be equally
efficient. So we would not be surprised to find an industry with such cost conditions to be populated by
firms of quite different sizes.

C(Y) Economies of Diseconomies of
scale scale

Minimume-efficient
scale

Y
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Chapter 11

Pure Competition in
the short run
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Chapter 11: Pure Competition in the short run Lecture 1
%JA\.Q dasa

Four Market Models 42 %1 (5 sl JSiil

Economists group industries into four distinct market structures: pure competition, pure monopoly,
monopolistic competition, and oligopoly. These four market models differ in several respects: the
number of firms in the industry, whether those firms produce a standardized product or try to
differentiate their products from those of other firms, and how easy or how difficult it is for firms to enter
the industry.

Fdliall (3 gms ¢ il ISENY) (3 gun el Anliall (3 g 2 A5 (3 smll DT Ray ) () s ¢ goal] Ailida YIKI Sllin
e Gl jall 5 LY iyl aad il ailiadl) e sane 52 (3 pul UK 3 pemiall o A JISial G 5 A AS5Y)
il sae pailadl) o3a bl o e Gl QS Gaa I Rt ) Galbaslly saaty sadl JSS o8 AT 5 s

Acliall My ez ooa g Jsdn Gilse 2sn g 5 LA o) Aniiall daludl (uilad o3 guall (S (p yidiall

Pure Competition: Characteristics and Occurrence 4l dudliall (3w yailad

* Very large numbers (sl (8 cnidiall g Gaild) (e S 230 353

A basic feature of a purely competitive market is the presence of a large humber of independently
acting sellers, often offering their products in large national or international markets. Examples:
markets for farm commodities, the stock market, and the foreign exchange market.

Cpdll Cpatiall e YY) llia Qihmu}im@ﬂ\aﬂué\u‘)ﬁ\hg.éﬂ\g&M\jMu\wﬁSJ& s g
bl aaaad Jal e GaSTgiuall g5 gaay g daluidl 028 (o sathy

» Standardized product (s 2 Alalall il gall grea cilaila (il

Purely competitive firms produce a standardized (identical or homogeneous) product. As long as
the price is the same, consumers will be indifferent about which seller to buy the product from.
Buyers view the products of firms B, C, D, and E as perfect substitutes for the product of firm A.
Because purely competitive firms sell standardized products, they make no attempt to differentiate
their products and do not engage in other forms of non-price competition.

il el Cilaie (e G e (sl laiia juai lema (Sar ¥ 5 soan Lalad AliLeiae colaviiall 03a () s cilaiiall (puiladhy 3 geaidll
U}A\@ggﬁ\@ﬂ\j(A)"&b}A\@ggm el (el ALK Adlial) a8 Sy Y e Jliall Jaas a5 A
srdl @ O gl 3al) 138 Il 138 AT g ) he anily 31 el Saay ey £ ) e sl iy M) ail) 0 il (B)

LAY e ) el (G ses gt aSlgiiall muan (18 Aoy Apiy ol g el 43 aan (53)

*  “Price takers” sl Taga g0 taal g | cllia

In a purely competitive market, individual firms do not exert control over product price. Each firm
produces such a small fraction of total output that increasing or decreasing its output will not
perceptibly influence total supply or, therefore, product price. In short, the competitive firm is a price
taker: It cannot change market price; it can only adjust to it. That means that the individual
competitive producer is at the mercy of the market. Asking a price higher than the market price would
be futile.
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. Free entry and exit: s sl o) dsliall ) Jsia §ilge 2529 px
New firms can freely enter and existing firms can freely leave purely competitive industries. No

significant legal, technological, financial, or other obstacles prohibit new firms from selling their
output in any competitive market.

Oo Yoy o ity o e ) el aal a5 130 JEall Jaes And Gl aodatiny 48 Aaludll L iy of AT e of a5 13)
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Demand as Seen by a Purely Competitive Seller

We begin by examining demand from a purely competitive seller’s viewpoint to see how it affects
revenue. This seller might be a wheat farmer, a strawberry grower, a sheep rancher, a foreign-currency
broker, or some other pure competitor. Because each purely competitive firm offers only a negligible
fraction of total market supply, it must accept the price determined by the market; it is a price taker, not
a price maker.

Perfectly Elastic Demand:

The demand schedule faced by the individual firm in a purely competitive industry is perfectly elastic at
the market price. The firm represented cannot obtain a higher price by restricting its output, nor does it
need to lower its price to increase its sales volume.

We are not saying that market demand is perfectly elastic in a competitive market. Rather, market
demand graphs as a down-sloping curve. An entire industry (all firms producing a particular product)
can affect price by changing industry output. Graphically, this implies that the individual competitive
firm’s demand curve will plot as a straight, horizontal line such as D

Industry
Firm (all firms)
AY

$10 Demand oo
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Average, Total, and Marginal Revenue

The total revenue for each sales level is found by multiplying price by the corresponding quantity the
firm can sell.

TR=P=*Q

The firm’s demand schedule is also its average-revenue schedule. Price per unit to the purchaser is also
revenue per unit, or average revenue, to the seller. To say that all buyers must pay $131 per unit is to
say that the revenue per unit, or average revenue received by the seller, is $131. Price and average
revenue are the same thing.

Total Revenue (TR) _ PxQ
Quantity (Q)  Q

=P

Average revenue (AR) =

Marginal revenue is the change in total revenue (or the extra revenue) that results from selling one more
unit of output.

Baal g bas gy Z WY S 3L ) e aalal) ST 0 50¥) (8 sl jlase e (gasd) Al )

ATR _AP+Q _ PAQ _

MR =70 AQ AQ

= In pure competition, marginal revenue, average revenue and price are equal. (AR = MR =P)

Purely competitive firm’s demand and revenue curves.

The demand curve (D) of a purely competitive firm
is a horizontal line (perfectly elastic) because the
firm can sell as much output as it wants at the
market price. 1048

$1179

Because each additional unit sold increases total 917
revenue by the amount of the price, the firm’s
total-revenue (TR) curve is a straight up-sloping
line and its marginal-revenue (MR) curve
coincides with the firm’s demand curve. The
average-revenue (AR) curve also coincides with
the demand curve.

786

655

524

Price and revenue

393

262

131

0 2 4 & 8 10 12
Quantity demanded (sold)
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Profit Maximization in the Short Run: Total-Revenue-Total-Cost Approach

There are two ways to determine the level of output at which a competitive firm will realize maximum
profit or minimum loss. One method is to compare total revenue and total cost; the other is to compare
marginal revenue and marginal cost. Both approaches apply to all firms, whether they are pure
competitors, pure monopolists, monopolistic competitors, or oligopolists.

We begin by examining profit maximization using the total-revenue-total-cost approach. Confronted
with the market price of its product, the competitive producer will ask three questions: (1) Should we
produce this product? (2) If so, in what amount? (3) What economic profit (or loss) will we realize?

Profit = TR-TC

Example:
Suppose that the total cost is given in the table below. If market price is $5.
Output (Q) | Total cost (TC) | Total revenue (TR) Profit
0 20
5 35
10 45
15 59
20 78
25 102
30 132
35 168
1. Complete the table
Output (Q) | Total cost (TC) | Total revenue (TR) Profit
TR=P*Q Profit=TR-TC

0 20 5*0=0 0-20=-20
5 35 5*5=25 25-35=-10
10 45 5*10=50 50-45=5
15 59 5*15=75 75-59=16
20 78 5*20=100 100-78 =22
25 102 5*25=125 125 - 102 = 23 ( max profit)
30 132 5*30 =150 150-132=18
35 168 5*35=175 175-168=7

2. What is the profit maximization output?

Q=25

3. What is the firm maximum profit?

Profit = $23
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Total-revenue-total-cost graphically for this profit-maximizing case:

Observe again that the total-revenue curve for a purely competitive firm is a straight line (Figure below).
Total cost increases with output because more production requires more resources. But the rafe of
increase in total cost varies with the efficiency of the firm, which in turn varies with the amount of variable
inputs that are being combined with the firm’s current amount of capital (which is fixed in the short run).

$1800
1700
1600
[ 500
1400
1300
1200
100
1000
900
800
700
600
500
400
300
200
100

Total revenue and total cost

Break-even point

(normal profit)

Total revenue, TR

\

Maximum
economic
profit
$299

Break-even point
(normal profit)

2 3 4 5 &6 7 8 9 10 011 12 13 14

Quantity demanded (sold)
(2)

Profit-maximizing case

Total cost, TC

$500
400
300
200
100

Total economic profit

299
Total economic ‘/’/
pru’ﬁt\
2 3 4 5 & 7 8 9% 10 011 12 13 14

Quantity demanded (sold)

Break-even point: an output at which a firm makes a normal profit but not an economic profit. At
break- even point, economic profit =0 or (TR =TC).

Graphically: at break-eve; total revenue curve intersects (~ i) total cost curve).
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Example:

Suppose that the total cost is given in the table below. If market price is $40.

Output (Q) | Total cost (TC) | Total revenue (TR) Profit
0 50
1 74
2 94
3 120
4 142
5 172
6 222
1. Complete the table
Output (Q) | Total cost (TC) | Total revenue (TR) Profit
TR=P*Q Proft=TR=TC
0 50 0*40=0 0-50=-50
1 74 1*40 = 40 40-74=-34
2 94 2*40 = 80 80-94=-14
3 120 3*40 =120 120-120=0
4 142 4*40 = 160 160-142=18
5 172 5*40 = 200 200-172=28
6 222 6*40 = 240 240-222 =18
2. What is the break- even output?
At break- even income: profit=0 atQ =3
3. What output level should the firm produce to maximize profit?
Output (Q) | Total cost (TC) | Total revenue (TR) Profit
TR=P*Q Profit=TR=TC
0 50 0*40=0 0-50=-50
1 74 1*40 = 40 40-74=-34
2 94 2*40 =80 80-94=-14
3 120 3*40=120 120-120=0
4 142 4*40 = 160 160-142=18
5 172 5*40 = 200 200 - 172 = 28 max profit
6 222 6*40 = 240 240-222=18

To maximize profit, the firm should produce: Q = 5 units

4. What is the firm maximum profit?

Max profit = $28
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Profit Maximization in the Short Run: Marginal-Revenue— Marginal-Cost Approach

In the second approach, the firm compares the amounts that each additiona/ unit of output would add
to total revenue and to total cost. In other words, the firm compares the marginal revenue (MR) and the
marginal cost (MC) of each successive unit of output.

Assuming that producing is preferable to shutting down, the firm should produce any unit of output
whose marginal revenue exceeds its marginal cost (MR >MC) because the firm would gain more in
revenue from selling that unit than it would add to its costs by producing it. Conversely, if the marginal
cost of a unit of output exceeds its marginal revenue, the firm should not produce that unit (MR < MC).
Producing it would add more to costs than to revenue, and profit would decline.

In the short run, the firm will maximize profit or minimize loss by producing the output at which
marginal revenue equals marginal cost (MR =MC). This profit-maximizing guide is known as
the MR - MC rule.

If at output level where MR > MC, the firm can increase its profit by increasing production.
If at output level where MR < MC, the firm can increase its profit by decreasing production.

Because the demand schedule faced by a competitive seller is perfectly elastic at the going market
price, product price and marginal revenue are equal. So under pure competition (and only under pure
competition) we may substitute P for MR in the rule:

In perfect competition: MR = P

To maximize proft MR=MC=P — MC=P

Example:

Assume the following cost data are for a purely competitive producer.

Output AFC AVC ATC MC
1 $600 $200 $800 $200
300 150 450 100
200 140 340 120
150 145 295 160
120 160 280 220
100 180 280 280
86 205 291 360
76 232 314 460
66 276 342 580
60 320 380 720

COWoONJO U PR,WDN

—

1. Assume that market price is $360, what will be the profit maximization output? What economic
profit or losses will the firm realize?

To maximize profit: MC = P = 360
At Q =7 units
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Economic profit= TR - TC or profit = Q( P - ATC)

Economic profit = Q( P - ATC) =7 (360 - 291) = $483

2. Suppose that market price decrease to 220, what will be the profit maximization output? What
economic profit or losses will the firm realize?

To maximize profit: MC = P = 220

At Q = 5 units

Economic profit = Q( P - ATC) = 5 (220 - 280) = $-300 ( losses)

3. What is the break-even output?

At break-even: profit = 0

From profit=Q( P - ATC) atP = ATC profit=0 — at break -even P = ATC = MC

Output AFC AVC ATC MC
1 $600  $200 $800 $200
2 300 150 450 100
3 200 140 340 120
4 150 145 295 160
5 120 160 280 220
6 100 180 280 280
7 86 205 291 360
8 76 232 314 460
9 66 276 342 580

10 60 320 380 720

Break -even output: Q = 6 units

If P> ATC — the firm make a profit

If P< ATC — the firm make a losses

If P =ATC — the firm make zero profit ( break-even)
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When should the firm shut down?

In the short run, the firm will maximize profit or minimize loss by producing the output at which: MC = P
Profit=Q (P - ATC)

When P > ATC — The firm make an economic profit

When P < ATC but P > AVC — The firm make an economic losses but still produce

When P < ATC and P < AVC — The firm minimize losses by shutting down ( shut down case)
In the shutdown case, when the firm shutdown the firm losses only the total fixed cost (TFC).
Shut down price = minimum AVC

When P < min AVC — The firm should shut down

Example:
Assume the following cost data are for a purely competitive producer.

Output AFC AVC ATC MC

1 $60 $45  $105  $44
2 30 42.5 72.5 40
3 20 14 60 34
4 15 37.5 52.5 30
5 12 37 49 35
6 10 37.5 47.5 40
7 8.6 38.5 471 45
8 7.6 40.6 48.1 55
9 6.6 43.3 50 65
10 6 46.5 42.5 75

1. Assume that market price is $65, what will be the profit maximization output? What economic
profit or losses will the firm realize?

To maximize profit: MC = P = 65

At Q = 9 units

Economic profit=Q( P - ATC) = 9 (65- 50) = $135
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2. Suppose that market price decrease to $45, should the firm still produce? If so, how much? What
economic profit or losses will the firm realize?

To maximize profit: MC = P =45

AtP = 45:

ATC = 471 ,AVC = 385 — P < ATC but P > AVC — The firm should still produce
At Q =7 units

Economic profit=Q( P - ATC) = 7 (45- 47.1) = $ — 14.7 (losses)

3. Suppose that market price decrease to $35, should the firm still produce or shutdown? What
economic profit or losses will the firm realize?

To maximize profit: MC =P =35
At P = 35:
ATC = 49, AVC = 37 — P < ATC (35<49)

P> AVC (35< 37

— The firm should still produce shutdown

When the firm shutdown makes a loss = TFC = AFC * Q = 12*5 = $60

Short run profit maximization for a purely competitive firm: Graphical Analysis:

§200
P=3%131 MR = MC

150 MC
g MR = P
s Economic profit
< ATC
- 100 -
o
u A=3597.78

50

0 2 3 4 5 6 7 8 9 10
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Example:

Figure show the cost structure of a firm in a purely competitive market. If the market price is $15 and

the firm is currently producing the profit maximization output level, what is the maximum economic profit

the firm realize?
$1q

15

MC

11
10

4:0 q
Profit = Q (P — ATC) = 40 (15— 11) = 40 x 4 = $160

Short run profit loss minimization for a purely competitive firm: Graphical Analysis:

$200
MC
150
o
- A=%591.67
:
- 100 e ATC
£ AVC
o MR = P
0
[
\\p= 581
50
¥ =$75
0 I 2 3 4 5 6 7 8 9 10
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Marginal Cost and Short-Run Supply

The portion of the firm’s marginal cost curve lying above its average variable cost curve is its
short run supply curve.

Application of the P 5 MC rule, as modified by the shutdown case, reveals that the (solid) segment of
the firm’s MC curve that lies above AVC is the firm’s short-run supply curve. More specifically, at price
P1, P 5 MC at point a, but the firm will produce no output because P1 is less than minimum AVC. At
price P2 the firm will operate at point b, where it produces Q2 units and incurs a loss equal to its total
fixed cost. At P3 it operates at point c, where output is Q3 and the loss is less than total fixed cost. With
the price of P4, the firm operates at point d; in this case the firm earns a normal profit because at output
Q4 price equals ATC. At price P5 the firm operates at point e and maximizes its economic profit by
producing Q5 units.

MC
g / ATC

P )L MRg
—- Break-even point
b (normal profit) | ave
©
W P MR,
z P MR;
: P MR
5 \ P “——__ Shutdown point 1
. N a (if P is below)

0 Q &6Y%

Quantity supplied
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Example:

Assume the following cost data are for a purely competitive producer.

Total Average Average Average  Marginal
Product Fixed Cost Variable Cost Total Cost Cost

0
I $60.00 $45.00 $105.00 $45
2 30.00 42.50 7250 40
3 20.00 40.00 60.00 35
4 15.00 37.50 52.50 30
5 12.00 37.00 45.00 35
6 10.00 37.50 47.50 40
7 8.57 38.57 47.14 45
8 750 40.63 48.13 55
9 6.67 43.33 £0.00 &5
10 £.00 46.50 52.50 75

In the table below, complete the short run supply schedule for the firm and indicate the profit or loss
incurred at each output.

Price Quantity supplied Profit (+) or loss (-)
(Qs)

65
55
45
40
35
30

If price fall below the minimum AVC (= 37), the competitive firm will minimize its losses in the short run
by shutting down. There is no level of output at which the firm can produce and the firm will losses total

fixed cost.
Price Quantity supplied Profit (+) or loss (-)
(Qs) Profit = Q( P - ATC)

65 9 9 (65- 50) = 135
55 8 8 (55 - 48.13) = 54.96
45 7 7 (45-47.14) = —14.98
40 6 6 (40 - 47.5) = —45
35 0 Loss = TFC = AFC *Q =5 x12 = 60
30 0 Loss = TFC = AFC *Q = 4 x15 = 60
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Chapter 13+14

Pure Monopoly
Monopolistic Competition and Oligopoly
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Chapter 13: Pure Monopoly

An Introduction to Pure Monopoly

Pure monopoly exists when a single firm is the producer of a product for which there are no close
substitutes.

L iy a g g pany Sliaall Leatiy A daluall el

Main Characteristics of Pure Monopoly _<Sia¥) (§ g 4oyl cilacdl

e Single Seller: sl (8 aa)y b2

A pure monopoly is an industry in which a single firm is the sole producer of a specific good or
services; the firm and the industry are synonymous.

e No Close Substitutes aaiiall dalull Jilay 252 5 a2
Pure monopoly's product is unique in that there are no close substitutes.
om0 AT paiia 2m g e ey olsall 5 il g ol s i Led AT oy am 0 Y (LSl ) ol 00 T 5
e Price Maker 4slul jzus 8 oSadll e 5 )l

The pure monopolist controls the total quantities supplied and has considerable control over price;
it is a price maker. The pure monopoly has a downward sloping demand curve; it can change its
product price by changing the quantity of the product it produces.

o Blocked Entry: G-l (Al Jsaall e cp AT Cpaiiall aiad 33 se 39a g

Entry is totally blocked in pure monopoly, those barriers may be economic, technological, legal, or
of some other type.

e o Jdlall drgaday Clul) oda Jaxi s 1o jiie (3 sl (8 olal) bl Ml aiiall alel Jlaall oo 8 Clod @lia o 6l
L3 ALl Y Gpnd) ) Jaal) e 0a2AT cpaie

Examples of Monopoly

Examples of pure monopoly are relatively rare, but there are many examples of less pure forms. In most
cities, government-owned or government-regulated public utilities—natural gas and electric companies,
the water company, the cable TV company, and the local telephone company—are all monopolies or
virtually so.
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Barriers to Entry (Js3al (3il ) sSiaall 352 9 S

- Economic barriers to entry: (Ownership or Control of Essential Resources) 2! sall (Je 3 sl
Aalud) LY A U Al Al

Gas ) sall Al (Sl e JaY) AL sha 3 ghay Jai py ol Apalia) o) sall el ellia (53 ua gl) miiall 05 o D aay

i i) il sl I o Ll 13 a5 LA i i) sl il it ) i i) 3S 55 13 AL

- Legal barriers to entry: sl lKiaY!

SIS 5 Jie Aaala Ragde 3wl LY Rgne S 58 il Jlitel s sSall slae) a sl e JISEAY) (e g sill 138 i
Basanadyiay b il o5 gAY Ba il dabus zlSY Cpaiiall 3y i) da sSall aad 85 Cailell 5 oluall 5 oLy S

- Technological barriers to entry (> sl Sl lSiaY)

LY &3O (el 55 5ea 85 YYD ) JLall Gul 51 LeSSUial s By ASENY1 8 Ly sl 5l S 8 iy i g
bl (e dals

- Natural barriers to entry (Natural Monopoly) sxuhll jISiaY)

A e e ST 0 g e Y s Tax (economies of scale ) 3sS <l s asa s ) JSiaY) e g il 138 (5 5m
Jsaall Jslas taa it (sl of Ayl Aioia A4S Y anay Rl ) sl U] ey 138 5 Falod) G5 5 g b 32
i adlia e aaall c_\.ud\ Jaa 3538 e J4y Lea ’L_QM\ C_u.d\ AalS Jaza (e éﬁi 4aliy) 4818 Jama (5 5S3 dal ) judd zy

sl 8 Tam 5 Q) el s G smdl (30 7 5530 0 slanmy s el Jlaa 8 il el

Monopoly Demand _Siaall 4a) g ol qullall Jada

The demand curve for the monopolist is quite different from that of the pure competitive. Because
the pure monopolist is the industry, its demand curve is the market demand curve. And because
market demand is not perfectly elastic, the monopolist's demand curve is down-sloping (the quantity
demanded increases as price decreases).

Price

Pure Monopoly
Demand Curve

D

Quantity
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Chapter 14: Monopolistic Competition and Oligopoly

Monopolistic Competition 4 tsiay) dudliall 3§ g

Audliall (5 g pailiad alina (3 sull 138 3305 A1 ISV (§ gu g ALK Ailiall (3 sus (1o Loy o A S5 Y] Aidliall (§ guu yiingy
G Al (3 s Gailbad (e dpals aal gl ML adele judi Byl (e A I 8 58 (any Jading sl o V) Al
Arilaie alu Gl s Al Labus () oty Gaatiall (e S dae 3 5a 5 (a8 o8 (35l D Lgy oy

The Characteristics of Monopolistic Competition 4 <iay) Audlial) § su (aibad

e Relatively Larger Number of Sellers

Monopolistic competition is characterized by a fairly large number of firms, say, 25, 35, 60, or 70,
not by the hundreds or thousands of firms in pure competition.

2221l agind Lo JS Ladl g Cpatiall (e e 2 e Chaati Ll Wa S35 sAal o) (o gadhy cpdl) cpatidl (e € dae s
qx_OTL..'A:\TUS'JJ;_;.JLMJ.w\o&w@ﬁ\ctﬁjﬂwgzﬁi_mucﬁge@nh\}&oiQ:\;SM\QAJ:\,\SS\
da 8 il aad ¥ dpalall ol ) ALl Adliall (3 g A aadac L')Asal.d\gjdﬁi A IS Audliall (3 g (A Caatiall

3 ma TSI ) 45,08 (8 L 5 o3yl 8 L35

e Differentiated Products: duwilaia Cul LeiSl g 4gilite (3 gudl 8 datiall dalul)

Monopolistically competitive firms turn out variations of a particular product. They produce products
with slightly different physical characteristics. Monopolistic competition firms differentiate product in
product attributes, services, location, and the brand names or packaging.

J8 (e daiiall aldl @l e il S of Jslag il (8 Lol dulaie g LSl Agiliiia (3 sl 8 daiial) Zal)
Oe petalubale ¢ satiall Gaery Al Jilay ol L35 L iany (e Ay B 5 3a0s iy () Asiall @l lld 0 )Y Gaaitiall
eV adeal a Ulal s ol 4 lal) 3L i caalaall of dai 5l ol ()5l el (s a1 adud)

- Monopolistic competitors do have some control over their product prices because of product
differentiation.

e Easy Entry and Exit: sl (e z s Al s Jsaall A e

Entry into monopolistically competitive industries is relatively easy compared to oligopoly or pure
monopoly. Because monopolistic competitors are typically small firms, both absolutely and
relatively, economies of scale are few and capital requirements are low.

Exit from monopolistically competitive industries is relatively easy. Nothing prevents an unprofitable
monopolistic competitor from holding a going-out-of-business sale and shutting down.

Y o e ol Jsaa) 30 2 5 D (5 sull (e 5 AN 5 Jsaal) A g A HSia ) A dliall (§ g Gailaad (e

Gl e ullall cpaiall aaf 5 A0 e (5l aa g0V adlh Jladl dabay 5 Tl jf 4 iy o oS Leal) of sl 13) Al
Aalld) oda Cl:u\ Cra b )lwd Jeaty I8 13)
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Oligopoly 4all j\Sia) (9 g

Oligopoly, a market dominated by a few large producers of a homogeneous or differentiated
product. Because of their "fewness," oligopolists have considerable control over their prices, but
each must consider the possible reaction of rivals to its own pricing, output, and advertising
decisions.

O Aials mal aiie JS Jlag s dglidie o) duiladie dalu () saay Cpaiiall (e 3 50m 230 3 ga g AL H\Sa (35 aaly
LAY Cpatiall ale J4l8

The Characteristics of Oligopoly A&l JlSia) (§ g yailad

e A few large Producers. (paiiall (o Bl 2xe 34a g

sl Aad A3 ) Qi) aaadl 13gd Lisma Tane Jaes (o Uiy S8 | el (e Jl8 220 3 g 5 08N lS0a) (3 s pailimd (1
Alsl) J&\W@L@_ﬁku@\ p38 Coia y Sl 4l deliall SN ~ Y 0 %50 oe gj&sﬁdigoﬁﬁa@j
."Concentration Ratio " " S yil) a3 sudl 8 U 25 (o s he q sl 581 2 U Do ans

e Homogeneous or Differentiated Productsigliia &S5 a8 g duilaie 680 2 (G gl 8 dakid) d=lldl

An oligopoly may be either a homogeneous oligopoly or a differentiated oligopoly, depending on
whether the firms in the oligopoly produce standardized (homogeneous) or differentiated products.
Many industrial products (steel, zinc, copper, aluminum, lead, cement, industrial alcohol) are
virtually standardized products that are produced in oligopolies. Alternatively, many consumer
goods industries (automobiles, tires, household appliances, electronics equipment, breakfast
cereals, cigarettes, and many sporting goods) are differentiated oligopolies. These differentiated
oligopolies typically engage in considerable non-price competition supported by heavy advertising.

Gedal g IS Ol A ilatie el ) ClS 1Y) sy Agalitia (5 S5 08 g A wilaie (¢S5 38 AL IS (3 g o Aaial) dal )
j\ea.u\j\djﬂ\@)ladc_c\jd_ma_ﬁd\Mﬁ_w}‘j\O@h@w&d\y\&ﬁdﬂ&d\djgﬁw\
Non-price ) dmdl e A uilially o Lo 1385 e Y15 dleall 48] (Sleianall Cilad i 5l Calacill i 41 )

. (competition

e Control over Price, but Mutual Interdependence.

Because firms are few in oligopolistic industries, each firm is a "price maker"; like the monopolist, it
can set its price and output levels to maximize its profit. But unlike the monopolist, which has no
rivals, the oligopolist must consider how its rivals (c-2le) will react to any change in its price, output,
product characteristics, or advertising.

Oligopoly is thus characterized by mutual interdependence. By mutual interdependence, we simply mean
self-interested behavior that takes into account the reactions of others ( oaiiall Glous sy miia JS)
a8 Ao adladl o 5 4050 8 a3 8 o AY), Firms develop and implement price, quality, location,
service, and advertising strategies to "grow their business" and expand their profits. But because
rivals are few, there is mutual interdependence: a situation in which each firm's profit depends not
entirely on its own price and sales strategies but also on those of the other firms. So oligopolistic
firms base their decisions on how they think rivals will react.
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e Entry Barriers $swll Jsaal 3ilse don g

The same barriers to entry that create pure monopoly also contribute to the creation of oligopoly.
Economies of scale are important entry barriers in a number of oligopolistic industries, such as the
aircraft, rubber, and copper industries. In those industries, three or four firms might each have
sufficient sales to achieve economies of scale, but new firms would have such a small market share
that they could not do so. They would then be high-cost producers, and as such they could not
survive.

s cye S OB 5350 038 (805 Aelical ) contia 0530 (310 35m s (o A iSial (3 e 8 cpmiial 30 488 5 e
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